UGC NET 2021 Public Administration

Topic:- PubAdmin_A

1 ;
) V.A. Graicunas theory on span of management/control was based on
(1) Flat organisational structure (2) Mathematical calculation
(3) Empirical Studies (4) Rule of Thumb
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[Question ID = 4277][Question Description = Q01_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16571]
2. 2 [Option ID = 16572]
3. 3 [Option ID = 16573]
4. 4 [Option ID = 16574]

2) Who stated. “Administration is now so vast an area that a philosophy of administration

comes to bring a Philosophy of life”?

(1) H.A. Simon (2) Marshal E. Dimock
(3)  Piffner 4) L.D.White
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[Question ID = 4278][Question Description = Q02_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16575]
2. 2 [Option ID = 16576]
3. 3 [Option ID = 16577]
4. 4 [Option ID = 16578]

3)  Which of the following is viewed as an alternative to market and hierarchy in public policy

and management literature?

(1) Professionalism (2) Networks

(3) Collegiality (4) Procedural mode
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[Question ID = 4279][Question Description = Q03_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16579]
2. 2 [Option ID = 16580]
3. 3 [Option ID = 16581]
4. 4 [Option ID = 16582]

4)  The book “The Frontiers of Public Administration” written by John M. Gaus was co-authored

by which of the following?



(1) L.D. White and Luther Gulick (2) MLE. Dimock and P.A. Appleby
(3) Luther Gulick and FM Marx (4y L.D. White and M.E. Dimock
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[Question ID = 4280][Question Description = Q04_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16583]
2. 2 [Option ID = 16584]
3. 3 [Option ID = 16585]
4. 4 [Option ID = 16586]

%) Who among the following. made distinction between obedience and acceptance of Authority?
(1) Chester I Barnard (2) Herbert A Simon
(3) Max Weber (4) JD Mooney
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[Question ID = 4281][Question Description = Q05_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16587]
2. 2 [Option ID = 16588]
3. 3 [Option ID = 16589]
4. 4 [Option ID = 16590]

6) The public-choice school sets a concept of :
(1) Bureaucratic administration (2) Hierarchical administration
(3) Democratic administration (4) Oligrachic administration
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[Question ID = 4282][Question Description = Q06_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16591]
2. 2 [Option ID = 16592]
3. 3 [Option ID = 16593]
4. 4 [Option ID = 16594]

7 The aim of Napoleonic code introduced in 1804 during the regime of Napolean Bonaparte
was to:
(1) Abolish Bureaucracy (2) Strengthen Bureaucracy
(3) Reform Bureaucracy (4) Further Bureaucratic despotism
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[Question ID = 4283][Question Description = Q07_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16595]
2. 2 [Option ID = 16596]



3. 3 [Option ID = 16597]
4. 4 [Option ID = 16598]

8
) Which one of the following is a characteristic feature of participative management?
(1) Hierarchical structures (2) Vertical communication
(3) Directionless activities (4) Cross-functional linkages
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[Question ID = 4284][Question Description = Q08_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16599]
2. 2 [Option ID = 16600]
3. 3 [Option ID = 16601]
4. 4 [Option ID = 16602]

?) Micheal Crozier's “The Bureaucratic Phenomenon” was a study of the bureaucracy of :
(1) England (2) Germany
(3) Ttaly (4) France
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[Question ID = 4285][Question Description = Q09_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16603]
2. 2 [Option ID = 16604]
3. 3 [Option ID = 16605]
4. 4 [Option ID = 16606]

10) “Zone of Indifference” as a concept 1s attributed to

(1) Herbert Simon (2y Rensis Likert
(3) Chester Barnard (4) M.P. Follett
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[Question ID = 4286][Question Description = Q10_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16607]
2. 2 [Option ID = 16608]
3. 3 [Option ID = 16609]
4. 4 [Option ID = 16610]

") Which one of the following thinkers did not accept duality or dichotomy between individuals

and group?
(1) Luther Gulick (2) Henri Fayol
(3) Max Weber (4) Mary Parker Follett
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[Question ID = 4287][Question Description = Q11_PubAdmin_SHAAN_NOV21]



1 [Option ID = 16611]
2 [Option ID = 16612]
3 [Option ID = 16613]
4 [Option ID = 16614]
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12)  Who has referred to the Comparative Public Adminmistrative Movement as “self conscilous

movement™?

(1) Fred Riggs (2) John Montgomery
(3) Dwight Waldo (4) Martin Landau
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[Question ID = 4288][Question Description = Q12_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16615]
2. 2 [Option ID = 16616]
3. 3 [Option ID = 16617]
4. 4 [Option ID = 16618]

13) Who has distinguished between ‘normally conceived planning’ and ‘unplanned change
planning’?
(1) Gerald E. Caiden (2) Donald C. Stone
(3) John Montgomery (4) Edward Weidner
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[Question ID = 4289][Question Description = Q13_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16619]
2. 2 [Option ID = 16620]
3. 3 [Option ID = 16621]
4. 4 [Option ID = 16622]

14)

In comparative studies of Administrative Systems and processes which one of the following
factors are valid?

(1) Administrative structure is a dependent variable

(2) Power 1s dependent variable

(3) Administrative behaviour 1s an independent variable

(4) Dependent/Independent variables are depend on the nature of research problem
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[Question ID = 4290][Question Description = Q14_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16623]
2. 2 [Option ID = 16624]

3. 3 [Option ID = 16625]
4. 4 [Option ID = 16626]

15)  Which country’s administration has been called modernizing administration?



(1) French Administrative System
(2) British Administrative System
(3) American Administrative System
(4) Japanese Administrative System
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[Question ID = 4291][Question Description = Q15_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16627]
2. 2 [Option ID = 16628]
3. 3 [Option ID = 16629]
4. 4 [Option ID = 16630]

16)  The concept of Judicial Review was borrowed for Indian Constitution from :
(1) United Kingdom (2) Canada
(3) South Africa (4) United States of America
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[Question ID = 4292][Question Description = Q16_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16631]
2. 2 [Option ID = 16632]
3. 3 [Option ID = 16633]
4. 4 [Option ID = 16634]

17) The Indian Council Act of 1909 is also known as :
(1) Montague Chelmsford Reforms (2) Simon Commission
(3 Sadler Commission Report (4) Morley-Minto Reforms
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[Question ID = 4293][Question Description = Q17_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16635]
2. 2 [Option ID = 16636]
3. 3 [Option ID = 16637]
4. 4 [Option ID = 16638]

18)  In which vear. the office of the special officer for Linguistic Minorities was created under the

provision of Article 350-B of the constitution?

(L 1955 (2) 1956
(3) 1957 4) 1958
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(1) 1955 (2) 1956
(3) 1957 (4) 1958



[Question ID = 4294][Question Description = Q18_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16639]
2. 2 [Option ID = 16640]
3. 3 [Option ID = 16641]
4. 4 [Option ID = 16642]

19 ; . S : : S oy e s
) Which Article of the Constitution of India guarantees protection from social injustice and all

forms of exploitation?

(1)  Article 15 (2) Article 16
(3)  Article 18 (4) Article 46
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[Question ID = 4295][Question Description = Q19_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16643]
2. 2 [Option ID = 16644]
3. 3 [Option ID = 16645]
4. 4 [Option ID = 16646]

20) In which vear was a separate Department of Disability Affairs created within Ministry of

Social Justice and Empowerment?

(1)  October 1998 (2) May 1998
(3)  October 2011 (4) May 2012
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[Question ID = 4296][Question Description = Q20_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16647]
2. 2 [Option ID = 16648]
3. 3 [Option ID = 16649]
4. 4 [Option ID = 16650]

21)  Which Article of the Indian Constitution deals with the National Commission for Backward

Classes?
(1) Article 321 (2) Article 330
(3) Article 338 A (4) Article 338 B
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[Question ID = 4297][Question Description = Q21_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16651]
2. 2 [Option ID = 16652]
3. 3 [Option ID = 16653]
4. 4 [Option ID = 16654]

22 : : ; e
) In which year was the maintenance and welfare of Parents and Senior Citizens Act enacted

by the Parliament?



(1) 2006 (2) 2007
(3) 2009 @ 2010

(1) 2006 (2) 2007
(3) 2009 (4) 2010

[Question ID = 4298][Question Description = Q22_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16655]
2. 2 [Option ID = 16656]
3. 3 [Option ID = 16657]
4. 4 [Option ID = 16658]

23 . : :
) Which agency has the authority to consolidate the plans prepared by Panchavats and

Municipalities in the district?

(1) State Planning Board (2) District Planning Committee
(3) District Planning Department (4) State Planning Department
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[Question ID = 4299][Question Description = Q23_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16659]
2. 2 [Option ID = 16660]
3. 3 [Option ID = 16661]
4. 4 [Option ID = 16662]

24)  Which one of the following is NOT in the purview of the Governor of a State?

(1) Power to dismiss the Ministry
(2) Power to dissolve the Legislative Assembly
(3) Power to form the Council of Ministers

(4) Power to assent the bills passed by the Legislature
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[Question ID = 4300][Question Description = Q24_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16663]
2. 2 [Option ID = 16664]
3. 3 [Option ID = 16665]
4. 4 [Option ID = 16666]

25)  Who succeeds the office of the Governor, if it falls vacant suddenly?

(1) Chairman of the Legislative Council
(2) Speaker of the Legislative Assembly
(3) Commissioner to Governor

(4) Chief Justice of the High Court of the respective State
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[Question ID = 4301][Question Description = Q25_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16667]
2. 2 [Option ID = 16668]
3. 3 [Option ID = 16669]
4. 4 [Option ID = 16670]

26)  Which one of the following is the oldest and a traditional form of organising public
enterprises?
(1) Government Company (2) Public Corporation
(3 Department Undertaking (4) Holding Company
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[Question ID = 4302][Question Description = Q26_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16671]
2. 2 [Option ID = 16672]
3. 3 [Option ID = 16673]
4. 4 [Option ID = 16674]

27) Which one of the following industrial policy was also named as the economic constitution of

the country?

(1) The Industrial Policy Resolution, 1956
(2) The Industrial Policy Resolution, 1973
(3) The Industrial Policy Resolution, 1977
(4) The Industrial Policy Resolution. 1991
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[Question ID = 4303][Question Description = Q27_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16675]
2. 2 [Option ID = 16676]
3. 3 [Option ID = 16677]
4. 4 [Option ID = 16678]

28) Which one of the following committee recommended that the civil servants should not be
appointed as Chairmen of the Governing Boards of the public enterprises?

(1) EKrishna Menon Committee (2) Arjun Sengupta Committee
(3 P.L. Tandon Committee (4) Committee on Public Undertakings
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[Question ID = 4304][Question Description = Q28_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16679]
2. 2 [Option ID = 16680]
3. 3 [Option ID = 16681]



4. 4 [Option ID = 16682]

29) What 1s the recommendation of the 15™ Finance Commission regarding the percent tax

devolution to the states?

(1) 39 per cent (2) 40 per cent
(3) 41 per cent {(4) 42 per cent
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[Question ID = 4305][Question Description = Q29_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16683]
2. 2 [Option ID = 16684]
3. 3 [Option ID = 16685]
4. 4 [Option ID = 16686]

300 How many public sector undertaking were recognised as ‘Maharatnas’ in India till January.
2020?
(1) Five (2) Seven
(3) Nine (4) Ten
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[Question ID = 4306][Question Description = Q30_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16687]
2. 2 [Option ID = 16688]
3. 3 [Option ID = 16689]
4. 4 [Option ID = 16690]

31)  Which one of the following 1= not a main characteristic of a Government Company?

(1) Created by Executive Decision
(2) Governed by Memorandum and Articles
(3) Service Motive

(4) Managed by Independent Governing Board
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[Question ID = 4307][Question Description = Q31_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16691]
2. 2 [Option ID = 16692]
3. 3 [Option ID = 16693]
4. 4 [Option ID = 16694]

32 . ; = 6 : :
) Who defined Public Policy as authoritative allocation of values for the whole society?
(1) David Easton (2) Thomas Dye
(3) Harold Lasswell (4) Yehezkel Dror
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[Question ID = 4308][Question Description = Q32_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16695]
2. 2 [Option ID = 16696]
3. 3 [Option ID = 16697]
4. 4 [Option ID = 16698]

33 . . .
) Who proposed the incremental approach to the study of Public Policy?
(1) Nicholos Henery (2) Dawid Easton
(3) Lindblom Charles E (4) Gabrial Almond
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[Question ID = 4309][Question Description = Q33_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16699]
2. 2 [Option ID = 16700]

3. 3 [Option ID = 16701]
4. 4 [Option ID = 16702]

34)  Drors optimal model of public policy making is related to :

(1) Quantitative and not Qualitative parameters
(2) Rational and Extra Rational factors

(3) Satisfying model of normal human being

(4 Changes in Society
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[Question ID = 4310][Question Description = Q34_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16703]
2. 2 [Option ID = 16704]
3. 3 [Option ID = 16705]
4. 4 [Option ID = 16706]

33) In the discourse of governance, heterarchic governance refers to :

(1) Structuralistic State

(2) Expansion of market networks
(3) Management of self-organising networks
(4) Different governance arrangements for different economic settings
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[Question ID = 4311][Question Description = Q35_PubAdmin_SHAAN_NOV21]

1. 1 [Option ID = 16707]
2. 2 [Option ID = 16708]
3. 3 [Option ID = 16709]
4. 4 [Option ID = 16710]

36) The Neo-Liberal concept of governance prefers :

(1 More Regulation (2) Less Government

(3) Public Sector (4) Bureaucratic hierarchies
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[Question ID = 4312][Question Description = Q36_PubAdmin_SHAAN_NOV21]

1. 1 [Option ID = 16711]
2. 2 [Option ID = 16712]
3. 3 [Option ID = 16713]
4. 4 [Option ID = 16714]

37)  Which one of the following is an essential factor that helps in report writing?

(1) Methodology (2) Sampling

(3) Data Analysis (4) Scaling techniques
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[Question ID = 4313][Question Description = Q37_PubAdmin_SHAAN_NOV21]

1. 1 [Option ID = 16715]
2. 2 [Option ID = 16716]
3. 3 [Option ID = 16717]
4. 4 [Option ID = 16718]

38) The purpose of scaling techniques in Research 1s to :
Quantify human behaviour

(1) Study human behaviour (2)

(3) Identify behavioural variables (4) Qualitative behaviour
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[Question ID = 4314][Question Description = Q38_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16719]
2. 2 [Option ID = 16720]
3. 3 [Option ID = 16721]
4. 4 [Option ID = 16722]

39) Which cone of the following is a qualitative research?

(1) Correlational research (2) Hypothesis testing

(3) Experimental method (4) Phenomenological method
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[Question ID = 4315][Question Description = Q39_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16723]
2. 2 [Option ID = 16724]
3. 3 [Option ID = 16725]
4. 4 [Option ID = 16726]

40)

The objective of Delphi techniques in research is to

(D
(2
(3)
4

Ascertains opinion to experts/people

Determines whether experts/people agree or disagree on a certain issue
Verify the reliability of opinion given by experts

Verify the validity of opinion given by experts

g H okl deATE H 3 B

(1
(2
(3)
4
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[Question ID = 4316][Question Description = Q40_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16727]
2. 2 [Option ID = 16728]
3. 3 [Option ID = 16729]
4. 4 [Option ID = 16730]

41)

Which of the following statements explains about Public Administration?

(A)

(B)

(©)

It is a Cooperative group effort in public setting

It is concerned with all the three branches of the Government and their

interrelationships

It iz a detailed and systematic execution of public laws

(D) It iz an enforcement agency of public organisation for profiting the private sector

Ch

(1)
(2)
(3)
(4)

oose the correct answer from the options given below :

(A). (B) and (D) only are correct
(B). (C) and (D) only are correct
(A). (B) and (C) only are correct

(A). (C) and (D) only are correct
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[Question ID = 4317][Question Description = Q41_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16731]
2. 2 [Option ID = 16732]
3. 3 [Option ID = 16733]
4. 4 [Option ID = 16734]

42) According to Gerald Caiden. the role of Public Administration is

(A) Preservation of Polity
(B) Institutionalization of socio-economic change
(C) Promotion of spoils system

(D) Protection of weaker-sections of the society

Choose the correct answer from the options given below :

(1) (A). (B) and (D) only
2y (A, (C) and (D) only
(3)  (B). (C) and (D) only

(49 (A).(B)and (C) only

&S 15 % FTER 6 TOE i g #

(A)  TF W GEE
(B)  HHEITTH-HAMAF T 1 S
(C)  Z-THZ =351 = UeHEA

(D)  THTH F FHAN AT FT HE

= fam o faweai 8 9@ TE I # 99 Fi
(1) == (A). (B) =i (D)
(2) = (A). (O) =R (D)
(3) === (B). (C) = (D)
(4)  FFF (A), (B) FF (C)

[Question ID = 4318][Question Description = Q42_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16735]
2. 2 [Option ID = 16736]
3. 3 [Option ID = 16737]



4. 4 [Option ID = 16738]

43) . . .. . . . .. .
Which of the following principles brings out the difference between public admimstration

and private administration?

(A) Principle of Uniformity
(B) Principle of Hierarchy
(C) Principle of Responsibility

(D) Principle of Legal Authority

Choose the correct answer from the options given below :

(1) (A). (B) and (D) only
(2)  (A).(C) and (D) only
(3) (A (B). (C) and (D) only
(49 (B). (C) and (D) only

FefaEd § ° ®F fHgE A T 9 Hel T F 9 F T e 2

(B) wgENH # fHgE
(C) eI & mgm

(D) = = g

Hi= fou T foeT # © wE I = HiE
(1) Fa= (A). (B) ¥R (D)
(2) A (A). (C) 3 (D)
(3)  (A). (B). (C) #it (D)

(4) =& (B). (C) #FR (D)
[Question ID = 4319][Question Description = Q43_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16739]
2. 2 [Option ID = 16740]

3. 3 [Option ID = 16741]
4. 4 [Option ID = 16742]

44) " Which of the following are functions of Organizational Culture?

(A) To control organizational behaviour
(B) To encourage stability
(C) To promote diveristy

(D)  To promote cross oganizational cooperation

Choose the correct answer from the options given below :

(1) (A), (B). (C) only

(2)  (B). (C). (D) only

R o -



\d)

@

) ALYy UILY

(A). (D) only

faeAferfiad @ & #19 ¥ GFEfE TR % T £7

(A)

(B)

(C)

(D

)

ATSF AR HI A HE

fESRT 1 WieaTted F

fafaem =6l Wieed F

=2 f2v o a5 | HEl 39 9 =9 HIA

(1)

(2)

(3)

4

et (A). (B). (C)
Fa= (B). (C). (D)
%4 (C), (D)

Fa9 (A). (D)

[Question ID = 4320][Question Description = Q44_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16743]
2. 2 [Option ID = 16744]
3. 3 [Option ID = 16745]
4. 4 [Option ID = 16746]

45) Which of the following influenced the evolution of Development Administration?

(4)
(B)
(©)
D)

The Great Depression
Scientific Management Movement
New Deal Philosophy

Post World-War II reconstruction

Choose the correct answer from the options given below :

(1
(2
(3)
)

(A). (B). (C) only
(B). (C). (D) only
(A). (C), (D) only
(A). (B). (D) only

ferhTe e & TRt 1 eieiigd § § e waiEd e e

()

B

)

(©

D

)

ATE TEE SR
= =it = 9

o fawa 72 F 2w i

e fauw v feeReal | © 9E 3 1 =EA i



1) =4 (A). B), (O)

(2) #a4 (B). (C), (D)

(3) ¥4 (A). (C), (D)

@  FEE (A), B). D)
[Question ID = 4321][Question Description = Q45_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16747]
2. 2 [Option ID = 16748]

3. 3 [Option ID = 16749]
4. 4 [Option ID = 16750]

46)  Which of the following components are present in Weber's bureaucratic model?

(A) Hierarchical arrangement of offices
(B) Division of work
(C) Written rules for carrving out the assigned tasks

(D) Social status determining public employment

Choose the most appropriate answer from the options given below :
(1)  (A). B). (C) and (D)

(2) (B) and (D) only

(3) (A) and (C) only

(49 (A). (B) and (C) only

FfefEas § O FF o qed F9 F A F Tiags ° gt 27

(A)  HEE H ITEET

(B) = = szAm

(C)  =IrEfea F/l F FElt==" #q foi@a =

(D) @ A F Fai § A

= 150 U faeal § @ HeE SO S 1 A AU

(1) (A (B). (C) =1 (D)
(2)  Ha« (B) 3 (D)
(3)  =a= (A) 3R (C)

(4 a1 (A). (B) 31 (C)

[Question ID = 4322][Question Description = Q46_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16751]
2. 2 [Option ID = 16752]
3. 3 [Option ID = 16753]
4. 4 [Option ID = 16754]

47)  Which of the following pairs is/are correctly matched?

(AY The theorv of Bationality - Maximi=sine solutions



(B)
(©)

(D)

T — —

The Science of Mudling Through : Non-incremental solutions
The theory of Comprehensive Rationality : Satisfying solution

Concept of Zone of Indifference : Optimising the results

Choose the most appropriate answer from the options given below :

(1) (A) and (C) only

(2) (B) and (D) only

(3) (A) and (B) only

(4) (A) and (D) only
feAferfiaa § o fod =TSt &1 2et TR 27

(A) 7 ol e TeHfd - AfFaEsfa g

(B) 7 @izH 3HTE HSfem Y - AFsHHEA Qe

(C) = Tumli 3is wusfae torfedt - afersET degus

(D)  HE= 36 HH TR FSED - ST 7 e

Fr= fou T fapet § @ gEE IUgTE I R W I

(1) A (A) 3 (C)

(2)  aet (B) #it (D)

(3)  Fa (A) I (B)

(4)  =ae (A) #F (D)

[Question ID = 4323][Question Description = Q47_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16755]
2. 2 [Option ID = 16756]
3. 3 [Option ID = 16757]
4. 4 [Option ID = 16758]

48)

(A)

(B)

(D)

Which among the following are correct about the Civil Service of France?

Not all employees of the State and Public institutions or Corporations are Civil

servants

Most employment positions in the French Civil Service are open to citizens of the

European Union

Some rare positions, e.g. University Professors and Researchers are open only to

French nationals

Corps are grouped in Five Categories

Choose the most appropriate answer from the options given below :

(1)
(2)

(A) and (B) only
(B) and (C) only



(3) (C) and (D) only
(4) (A) and (D) only

FTE i AT HAT % a9 | Feieiiaa § 5 FiE-0 H9E a5ed 2 7

(A)  T=F IR A T 1 T gt geE i T 99 e A

(B)  WIEE ATk a1 & Afaehier TSR 92 A TG % ARG & (o0 g w2 A

(C) % 999 T2, T favaia=ierd TrEET i Teal, Fae THE] A % o g v 3

(D) I uTE A § HEEG A S 2

Hr= fou U foepedt § @ meE IUgE I W WA AT

(1)  FEe (A) 37 (B)
(2) & (B) 37 (C)
(8) A (C) 31 (D)
(4) F=F (A) 3 (D)

[Question ID = 4324][Question Description = Q48_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16759]
2. 2 [Option ID = 16760]
3. 3 [Option ID = 16761]
4. 4 [Option ID = 16762]

49) According to Fred Riggs the ‘Ideographic’ approaches concentrate on :

(A) Unique case
(B) Case Study
(C) Generalization
Choose the most appropriate answer from the options given below :
(1)  (A) only
(2) (B) only
(3) (A) and (B) only
(4) (B) and (C) only

%S fog = smEn sfeamies’ s e oA Higd e E

(&) TEfEE e

(B) =Afw A=A

(C) =@

Hr= fzu o fasheat © @ mEE SUgT I W 99 i



(1) F99 (A)
(2) Fae (B)
(3)  wad (A) 3E (B)

(4) = (B) #F (C)
[Question ID = 4325][Question Description = Q49_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16763]
2. 2 [Option ID = 16764]

3. 3 [Option ID = 16765]
4. 4 [Option ID = 16766]

50) Which of the following is correct with related to Indian Council Act of 18617

(A) It restored the legislative powers of Bombay and Madras Presidencies
(B) The Governor General in Council had 8 (eight) ordinary members

(C) It transformed the Governor General in Council to function as a Cabinet based on

portfolio system

Choose the most appropriate answer from the options given below :

(1) (A).(B)only
(2)  (B).(C)only
(3)  (A).(C) only
(49 (A).(B). (C) only

Fofefiga § ° 19 o %99 9rdE uias AfatEg 1861 &+ 994 § me 27

(A)  =EA S 3 agw e i wtE g R

(B) T S T e § A8 (8) HET g |

(C) 304 A FHE 34 FEEE F UEEGE SAHHE e F A8 W FE W F O E0AE w1

2

e f3u 1o fashet | O FeE ugT IO A T I

1) FAF A). (B)
@ =4 (B). (O)
(3)  FE (A), (O)
4 F=F (A). (B), (O

[Question ID = 4326][Question Description = Q50_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16767]
2. 2 [Option ID = 16768]
3. 3 [Option ID = 16769]
4. 4 [Option ID = 16770]

1) The jurisdiction of the Central Administrative Tribunal is over which of the following

sairces?



Central Civil Services
Staff of the Supreme Court of India
Civilian employees of Diffence Services

All India Service

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A). (B). (C) only
(A). (B). (D) only
(4). (C). (D) only

(B). (C). (D) only

FE T A F SEET HetAtEd e aane WY

(A)
(B)
(©

(D)

b 7 f\ 3 ,.\,

ﬁ\ : o X :::

Hr= fou U fohet | § WeE IUgE I R 99 I

(1)
(2)
(3)

4

Fa (A). (B). (C)

Fa (A), (B), (D)

a9 (A). (C). (D)

Fa= (B). (C), (D)

[Question ID = 4327][Question Description = Q51_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16771]
2. 2 [Option ID = 16772]
3. 3 [Option ID = 16773]
4. 4 [Option ID = 16774]

52)

Consider the following statements :

(A)
(B)

(C)

(D)

The National Commission for Scheduled Caste has the same powers as a civil court

The National Commission for Scheduled Caste has the same powers as a criminal
court

The National Commission for Scheduled Caste has the same powers as a civil court

and criminal court

The National Commission for Scheduled Caste has no power to act as a civil court

Choose the correct answer from the options given below :

(D
(2)

(A) only

(A). (B) only



(3) (B). (C) only
(4 (C), (D) only
(A)  TIE FgrET S S 9 e R % wEE e 2
(B)  TYM g S SAET % U A i % S e A
(D) TYE g G A & e EfaE w5 F =9 9w B f A 16 A

Hr fau T faedt § @ geE 39w I F 9 I

1) FEE A

2 FEE (A) 3 (B)
(3) = (B) 3 (C)
(4) = (C) 3R (D)

[Question ID = 4328][Question Description = Q52_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16775]
2. 2 [Option ID = 16776]
3. 3 [Option ID = 16777]
4. 4 [Option ID = 16778]

53)

Which of the following activities are related to disaster preparedness?

(A) Relief
(B) Training and drills for emergency staff

(C) Reconstruction

() Development of evacuation plans

Choose the correct answer from the options given below :
(1) (A). (B). (C) only

(2) (A), (C). (D) only

(3) (B). (C), (D) only

(4) (B). (D) only

freferfaa § & #iA & TEhe 39e S § Feiad 27

(A) RIEG]

(B)  S9TE HHATHAT 1 U FH g

(C)  wAM=m

]

(D)  wHTEd T4 © ST Sl S el i ATSE B g

fr= fau o foppedi | O weE g I A =9I Rl



(1) FAa A), B) 37 (O)
(2) =4 (A), (C) ¥ (D)
(3) = (B). (C) ¥ (D)
(4  =ad (B) ¥ (D)

[Question ID = 4329][Question Description = Q53_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16779]
2. 2 [Option ID = 16780]
3. 3 [Option ID = 16781]
4. 4 [Option ID = 16782]

54)

Which one of the following is not the objective of the multi-unit company?

(A) Pooling of resources
(B) Decentralisation

(C) Uniformity in Policies

(D) Better coordination among the constituent units

Choose the correct answer from the options given below :
1 A.®. () only
(2)  (B).(C). (D) only
(3) (A (C) (D)only
(4 (A).(B). (D) only
frefefiga § & #iH-m1 97 3% U1 H 529 TH 27
(A)  HETHT T TS
(B) ek

(C) et 4 wwEgan

(D) =% THEAl F SEA HE=A

= fou U forhedt | © HeE U IO A =S I

(1)  =Fa9 (A), (B). (C)
(2) 4« (B). (C). (D)
(3)  FA9 (A), (C), (D)

(4) =9 (A). (B). (D)

[Question ID = 4330][Question Description = Q54_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16783]
2. 2 [Option ID = 16784]
3. 3 [Option ID = 16785]
4. 4 [Option ID = 16786]

55 . . . ..
) Which one of the following was not the objectives of the disinvestment?

(A) Revenue Collection



(B) Resource Mobilisation
(C) Direct Participation by Public

(D)  Wide Coverage of Activities

Choose the correct answer from the options given below :

(1) (A). (B) only
(2) (A, (C)only
(3)  (A). (B). (C) only

@ ). ®.(©). D only
sttt o @ - faf 1 st o

(A) T T
(B)  =EEH T2
(C) = i Tes qriEr

(D)  TTidtEieE] &1 =9 FaA

et fou o et | | FeE S9EE I w0 = i

(1)  Fa= (A). (B)
(2)  Fad (A). (O)
(3) A (A). (B). (C)

(4) (A). (B). (C). (I
[Question ID = 4331][Question Description = Q55_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16787]
2. 2 [Option ID = 16788]

3. 3 [Option ID = 16789]
4. 4 [Option ID = 16790]

56)  Which of the following are the compulsory provisions of the 73™ Constitution Amendment
Act, 19927
(A) Provision for reservation of 1/3 seats for women in Panchayatraj institutions

(B) Provision for reservation of 1/3 seats for seats for backward classes in Panchayatraj

institutions
(C) Minimum age for contesting elections to Panchayats is 21 years

(D)  To perform some or all the 29 functional items list in 11 schedule of the constitution

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2) (A). (B) and (D) only
(3) (A). (B) and (C) only

{4y (AY (O and (T o 1+



b RS

FEAREE B O FE-T1 AFEE TE9E 73 3 S5EaE Tmed A gEEE, 1992 3 27

(A)
(B)
(©)

(D)

TS GETAT | AR F o THAETE AR T TEEE
TaEARE GEe § Ut T % fou uF faen swew = amae

% i W, DO, e [ o =

TEEE 1 TE A5 F o0 =Has [Huiia A 21 a9 gedt mEaE

TG F ERE SR ¥ =g 59 29 F9 5% 99 FH H FF FE1 HF F TEHTH

4 fou o femeai | © TwE wE 3 H 9 Hi

(1)
2)
(3)

(4)

Fad (A) 31 (C)
#Fae (A). (B) 311 (D)

Fa4 (A). (B) 37 (C)

Fae (A). (C) #T (D)

[Question ID = 4332][Question Description = Q56_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16791]
2. 2 [Option ID = 16792]
3. 3 [Option ID = 16793]
4. 4 [Option ID = 16794]

57)

Identify the agencies which are exempted from Right to Information Act (RTI) :

(A

) Central Bureau of Investigation (CBI)

(B) Prime Minister Office (PMO)

(C) Medical and Professional Institutions

(D

) Reszearch and Analysis Wing (RAW)

Choose the correct answer from the options given below :

(1)
@
(3)

(4)

(A) and (C) only
(A) and (D) only
(A) and (B) only

(A). (B) and (C) only

A AT F e = T g sAtaen afatem g gz A

(A)

(B)

(©)

(D)

FedE ST = (A )

T A wETeE (dF T )

Fafreahig 271 =qTEETEE 35T

T Uz vAfatE fa ()

Hr= T2 v fasheat § @ geE IUge I w6 99 i

(1)

ae (A) #HT (C)



(2) a4 (A) R (D)
(3)  =ad (A) ¥ (B)
(4)  Fa (A), (B) 31 (C)

[Question ID = 4333][Question Description = Q57_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16795]
2. 2 [Option ID = 16796]
3. 3 [Option ID = 16797]
4. 4 [Option ID = 16798]

58 : : 5 P : :
) Which of the following are not a barrier to delivery of public services
(A) Absenteeism of public service delivery staff

(B) In effective supervision of higher officials

(C) Absence of technical and professional knowledge and skills

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (A) and (C) only
(3) (C) only

(4) (A) only
Traferfiaa § #19 =3 o9 F1 F 901 a0 Te 2 7

(A)  SHET U O Gl FHENE A
(B) I g1 TMEER T

(C) T U9 =IEETeR 99 U R

e 2o T et d # BEH S9gw I 0 WA R

(1)  Fad (A) =% (B)

(2)  FEE (A) I (C)

(3) Fa4(C)

4 Fa4(A)
[Question ID = 4334][Question Description = Q58_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16799]
2. 2 [Option ID = 16800]

3. 3 [Option ID = 16801]
4. 4 [Option ID = 16802]

29) Which of the following are the key components of New Education Policy. 20207

(A) Schooling from the age of 3 vears
(B) Education Structureof 5+ 3+ 3+ 4

(C) No multiple entry/exit in programmes in higher education

(D) Gross enrolment ratio 1s higher education to achieve 50% by 2035



Choose the correct answer from the options given below :
(1) (A). (B) and (C) only
2) (B). (C) and (D) only
(3) (4). (C) and (D) only

(4) (A). (B) and (D) only
frfetaa 5 & =[ 3 72 faen i, 2020 % wym 9% 27

(A) 3 =4 3T wERm
(B) 5+ 3+3+4 i foam =

(C) == o1& = U=l § 3% TR W TE9 W /S M 5 a8

(D) 2035 7% =T T § 50% Tt TAFA AU H AET TH FE

i1 f3u o faeai 9 | wE I A == i

(1)  F=9 (A). (B) 51 (C)
(2)  FA= (B). (C) 3 (D)
(3)  F= (A). (C) ¥ (D)
(4)  F=9 A). (B) # (D)

[Question ID = 4335][Question Description = Q59_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16803]
2. 2 [Option ID = 16804]
3. 3 [Option ID = 16805]
4. 4 [Option ID = 16806]

60) In democracies. public policies are a result of compromises arrived at among different
groups? Which of the following are involved?
(A) Political Actors
(B) Pressure groups
(C) Non-State actors
(D) Administrators
Choose the correct answer from the options given below :
(1) (A, (B) and (C) only
(2)  (B).(C) and (D) only
(3)  (A). (C) and (D) only
(4 (A). (B). (C) and (D) only




[¥a ¥ LiEAa=E — =nal
(B) 5@ ugE
(C)  —ar=g =

(D) TITEE

Hi= fou U faFem 4 © TeW ST IR H1 9EA FI

(1)  =ae (A). (B) 31 (C)

(2) = (B). (C) = (D)

(3)  Fa7 (A). (C) w7 (D)

4 (A). (B). (C) 3T (D)

[Question ID = 4336][Question Description = Q60_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16807]
2. 2 [Option ID = 16808]

3. 3 [Option ID = 16809]
4. 4 [Option ID = 16810]

61 i i S 5 g .
) Which one of the following is the core concerns of Harold Lasswell in the policy analysis?
(A) Social Process Model

(B) Professional Identity

(C) Contextual Orientation

(D) Inter disciplinary approach

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (A (B). (C) and (D) only
(3)  (B). (C) and (D) only

(4 (A). (B) and (D) only

Tt & & =i Hifs Fvem 4 2es dmas % = w1 ges g 27
(A)  TmE=F TR g

(B) =AEEIEE TEEH

(C) =t =fafa=ma

(D)  iE-fawes sfewm

i fou T T B O HE 3 S 99 I
(1) =a= (A). (B) 31 (C)
(2) (A (B). (C) 5 (D)

(3) == (B). (C) #R (D)



(4)  =Faa (A). (B) 317 (D)

[Question ID = 4337][Question Description = Q61_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16811]
2. 2 [Option ID = 16812]
3. 3 [Option ID = 16813]
4. 4 [Option ID = 16814]

62)

Public Policy :

(A) 1s the consciously acknowledged rules of conduct that guide public authorities in a
political system

(B) 1s result oriented action

(C) 1s not a legal sanction/authority

(D) is related to decisional pattern of pulic administrator

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only

(2) (C) and (D) only

(3) (A) and (C) only

(4 (B) and (D) only

= Hifd

(A)  TF Gl {a AN o B A S W R sHias Saed e #E  few qnl 59
Al B

(B) == whomEEE w7

(C) == Tafe ==/ mierwrt 751 2

(D) == =1 WOEF F HoEeAS Tgfd ¥ Hetad B

= f2u o fosket § @ gEE ST I R 9 RO

1) & (A) 3F (B)
(2)  FAF (C) 3R (D)
(3) A (A) 377 (C)
(4)  FA9 (B) 3% (D)

[Question ID = 4338][Question Description = Q62_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16815]
2. 2 [Option ID = 16816]
3. 3 [Option ID = 16817]
4. 4 [Option ID = 16818]

63 i ; e .
) Which of the following are probability sampling?

(A) Stratified Random
(B) Snowfall sampling

(C) Multistage sampling

(D) Cluster sampling



Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2 (B). (C) and (D) only
(3) (A). (C) and (D) only

(40 (A). (B) and (D) only
frfafad § & F9 W Ta-=o 27
(A) R wglea®
(B) AT THAT-EAA
(C) g FHAI-F5H

D) == AT

= fou U el | @ 9E IO R 999 AT

1) == A). B). (O)
(2  FAa (B). (C). D)
(3) == (A). (C). (D)
(4  F=9 (A, B), (D)

[Question ID = 4339][Question Description = Q63_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16819]
2. 2 [Option ID = 16820]
3. 3 [Option ID = 16821]
4. 4 [Option ID = 16822]

64)  In Ex-Post Facto Research the position of the variable 1s :

(A) Independent and happens before research
(B) Begins with single dependent and independent variables

(C) The researcher studies the possible relations in a regressed form

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2)  (A). (B) and (C) only
(3) (B) and (C) only

(4) (A) and (B) only

FEET Y ° = A

(A) TE9d Bl 2 31 79 F 95 = R




(e NPT MR A GRS A AN 5 oA\ ol o

(C) =il O9a TEHl 1 WAl B9 § 55T Fa 2|

fr= 20 T a8 | wE I 9 A

(1)  @ad (A), (O)
@  FAa A, B). ©)
(3 = (B). (O)
(4 F=4 (A). (B)

[Question ID = 4340][Question Description = Q64_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16823]
2. 2 [Option ID = 16824]
3. 3 [Option ID = 16825]
4. 4 [Option ID = 16826]

65)  Which of the following statements 1s/are correct?

(A) Objectives should be specific
(B) Objectives can be written in a statement or question form
(C) Another word for problem is variable
(D) Objectives are to be stated in Chapter I of the thesis
Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (A). (B) and (C) only
(3) (A) and (D) only
(4) (&). (C) and (D) only

Te=AtertEa 3 i o1 ®eF Ha /R ¢

(A)  ZETE H famEE = ey
(B)  FEYAl W U U WAGTEF AHN T o T 7
(C) = + foe oo wisg =/ 2

(D) 394 %019 WY1 % UYR A H R o 7

et fou T e | wE S R =9 I

(1) = (A), (B)
2y =4 (A). (B). (C)
(3) A= (A). (D)

4y Fa (A). (0), (D)



[Question ID = 4341][Question Description = Q65_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16827]
2. 2 [Option ID = 16828]
3. 3 [Option ID = 16829]
4. 4 [Option ID = 16830]

66) Match List I with List IT
List I List IT
Concept Author
(A) Free and responsible society () Elinor Ostrom
(B) Governing Commons (IT) Mary Parker Follett
(C) Integration and law of the situation (IIT) Karl Weick
(D) Organization as sense making activity (IV) Jurgen Habermas
Choose the correct answer from the options given below :
(1)  (A)-AV), (B)-D). (C)-(I), (D)-(IIT)
(2) (A4)-(ID), (B)-(IV). (C)-(I1D)., (D)-(D)
(3 (A)-@V). (B)-(I). (C)-ID). (D)-(I1T)
(4 (A)-(ID). (B)-(IID), (C)-(D. (D)-(IV)
=1 I = Tr7 gt 11 1 faem fifse
=11 T=I-1T
(A) H 3T SeEE FErs (I) weHR 37y
(B) @EWO I A (II) wft 9rkT et
(C) v wn et w1 w e (TTT) T I5F
(D) =g fmi iEtEta % =9 8§ g (IV) = Zeram
4 fou el 4 9 w9 3 #1199 A

(1) (A)-(IV). (B)-(I1). (C)-(T). (D)-(IIT}

(2) (A)-(II). (B)-(IV). (C)-(ITT). (D)-(T)

(3) (A)-(IV). (B)-(I). (C)-(IL). (DH-(III)

(4) (A)-(ID), (B)-(III). (C)-(I). (D)-(IV)

[Question ID = 4342][Question Description = Q66_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16831]
2. 2 [Option ID = 16832]
3. 3 [Option ID = 16833]
4. 4 [Option ID = 16834]

67)

(A)

{9
(D)

Match List I with List IT

ListI

Culture Centric Framework
Structure Centric Framework
Inside of organisation

Inside of man/person

@
(II)
(11I)
(Iv)

List IT

Classical Approach

Human Relations Approach
Behavioural Approach

Ecological Approach



Codes:

(1) (A)-(D). (B)-(ID). (C)-(IID). (D)-IV)
2 A)-av). B)-D, (C)-d1), (D)-(aIDn
(3)  (A)-ID). (B)-IV). (O)-ID. D)-D
@) (A)-D. (B)-ID. (C)-(D. M)-(IV)

Tl I @ gl 11 1 faer i

== 1

(A) FEpf-HF 2=

(B) TREAI-HiEF Fra

(C) HTa 1 =A% 9m

(D) %9 /=3t 1 A 9
fr= fau fampeat o @ wE FwC = =EE il
D A-M. B)-ID. (O-IID, (D)-AV)
2 (A)-aV). (B)-D, (C)-aD). (D)-IID
(3  (A-UD. B)-IV). (O-1D. M-
4 (A-aD. (B)-dID. (O)-D. D)-AV)

THI-1IT
(I) =™ 9T
(I) === T99 39PN
(III) =FF=rams) 9

~

(IV) wTiferias 9

[Question ID = 4343][Question Description = Q67_PubAdmin_SHAAN_NOV21]

1. 1 [Option ID = 16835]
2. 2 [Option ID = 16836]
3. 3 [Option ID = 16837]
4. 4 [Option ID = 16838]
68) , ass i
Match List I with List 1T
ListI
(A) Participation of workers
management
(B) Respect the 1deals and institutions
(C) Prohibition
(D) Emergency

List IT
in (I) Fundamental Duty

(II) Directive Principals of State Policy
(III) Fundamental rights

(IV) Constitutional Remedy

Choose the correct answer from the options given below :

1) (A-D. B)-0V). (C)-aD). (D)-(II)
(2)  A-AD). B)-0). (O)-V). (D)-(I1ID
(3)  (A-AID. (B)-(). (C)-ID. (D)-IV)
(4 A-av), (B)-ID). (O)-@). (D)-(ID)

T 1% w9 g 11 =1 foerm =i

T

(A) TEET H FETE = qEiE

I
(D)  witfers Fa=



(B) ATeEEi 3R Tl 1 T (D) =3It F Fews fage

(C) fma (IIT) Fertesrmt =1 ferem
(D) HATIEEA (IV) Haan-e 0=n

= f2u fasedi | | @F 3 F = HiA

1y (A)-D. B)-IV), (C)-(D. (D)-AID
(2)  (A)-AD. B)-1). (O)-(IV). (D)-I1ID
(3)  (A)-dID. (B)-[D). (O)-ID. (D)-IV)
4 (A)-aV). (B)-(I1D), (O)-1). (D)-(ID

[Question ID = 4344][Question Description = Q68_PubAdmin_SHAAN_NOV21]
1 [Option ID = 16839]
2 [Option ID = 16840]
3 [Option ID = 16841]
4 [Option ID = 16842]

AW N =

69) Match List I with List IT

ListI ListII
Programme Vision/Objectives
(A) Digital India (I)  Electronic Delivery of services
(B) AKSHAYA (I) Eliminate bogus LPG connections
(C) e-kranti (II) Empowered society and knowledge
economy
(D) PAHAL (DBTL) (IV) Digital Literacy

Choose the correct answer from the options given below :

(1)  (A-D. (B)-aV). (C)-@). (D)-ID)
(2)  A-dID. (B)-M). (C)-(ID. (D)-IV)
(3)  (A)-dID. (B)-(ID. (C)-(D. (D)-IV)
4 (A, (B)-0V). (C)-AD. (D)-(I)

gl 1% @y g 11 =1 faem =il

=TI gHi-11

Fr ofe /a5
(A) fefaes sfen (@D ==t F TR e
(B) &M (I)  =eft =, fi. . s = e
(C) - (IIT) =2 Fa== 3 79 -
(D) w== (DBTL) IV) fefes mmema

= 2o fawedt § ° 781 39 # =994 Hie

(1)  (A)-AID. (B)-(IV). (O)-1). (D)-(ID
2)  (A)-aID. (B)-I). (O)-(ID). (D)-(IV)
(3)  (A)-AID. (B)-1D). (O)-(D. (D)-IV)
4 (A)-dID. (B)-IV), (O)-ID. (D)-(D

[Question ID = 4345][Question Description = Q69_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16843]



2. 2 [Option ID = 16844]
3. 3 [Option ID = 16845]
4. 4 [Option ID = 16846]

70 Match List I with List IT
List I List IT
Institution Place
(A) National Institute for the (I) Dehradun
empowerment of persons with
multiple disabilities
(B) National Institute of Rehabilitation (II) Secunderabad
Training and Research
(C) National Institute of Mentally (III) Cuttack
Handicapped
(D) National Institue of Visually (IV) Chennai
Handicapped
Choose the correct answer from the options given below :
(1) (A)-(IV). (B)-(III). (C)-(II). (D)-(I)
(2)  (A-av). B)-@, (CO)-a1), (D)-aID)
(3) (A)-(IV). (B)-(II), (C)-(III), (D)-(D)
(4 (A)-(IV), (B)-(I1I). (C)-(D). (D)-(1I)
ol 1% @rg gt I =1 e fifse
T T
T EIE]
(A) T T-faFarm difzs =tE wmEEm (D gE
e
(B) T T WA HiT AHEE T (I) ToFemem
(C) T AT - T Fam (IID) =+
(D) e siE-faFam wam (IV) ==

Jr= fou foewl 9 @ o I F1 == A

(1)
(2)
(3)
(4)

(A)-(IV). (B)-(III). (C)-(ID). (D)-(I)
(A)-(IV). (B)-(T). (C)-(IT). (D)-(IIT)
(A)-(IV). (B)-(II). (C)-(III). (D)-(I)
(A)-(TV). (B)-(IIT). (C)-(D). (D)-(IT)

[Question ID = 4346][Question Description = Q70_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16847]
2. 2 [Option ID = 16848]
3. 3 [Option ID = 16849]
4. 4 [Option ID = 16850]

71)

Match List I with List IT
List I List IT
Disasters Related to
(A) Earthquake (I) Climate
(B) Droughts (I) Accidents
(C) 0Oil Spill (III) Biological
(D) Pest attack (IV) Geological



Codes:

(1)
(2)
(3)
4)

(A)-(AV). (B)-(D). (C)-(1I). (D)-(1L)
(A)-IV). (B)-(II). (C)-(IID. (D)-(D)
(A)-IV). (B)-(III). (O)-AD. (D)-(D)
(A)-(IV). (B)-(D). (C)~(IID). (D)-(IL)

Tt 1% =y o=t I = faerms Fifm

T-I

(&) wFa

(B) @

(C) = F1 fmm=

(D) HrisEl #1 FHe
i f2u faheul § 5 @21 S 6 = AT
(1) (A)-(IV), (B)-(D. (C)-1I). (D)-(IIL)
2  (A)-aAV). (B)-(ID), (O)-(ID. (D)-(D
(3)  (A)-aOV). (B)-(IID), (C)-ID. (D)-(D)
@  (A-av). B)-(D. (C)-d1). (D)-(ID

TEI-1IT

T Tt
(D =
I FEem
(TIT) =f
@IV) sprive®

[Question ID = 4347][Question Description = Q71_PubAdmin_SHAAN_NOV21]

A w N =

72)

1 [Option ID = 16851]
2 [Option ID = 16852]
3 [Option ID = 16853]
4 [Option ID = 16854]

Match List I with List IT

ListI
Types of Grants

(A) Vote on Accounts

(B) Supplementary grants

(C) Excess grants

(D) Demand for grants

@D

(1)

(I1T)

(IV)

List IT
Purpose

Approval for expenditure to be spent
over and above what has already been
approved in the Budget

Approval for expenditure already
spent over and above the budgetary
limit

Proposal for expenditure by
Ministry/Departments as estimate

Approval for grants iIn advance
pending the approval of the Budget

Choose the correct answer from the options given below :

(1)
(2
(3)
(4

(A)-@). (B)-1I). (O)-11D. (D)-IV)
(A)-(1D). (B)-d1D). (C)-(IV). (D)-(D
(A)-(ID). (B)-(IV). (C)-(D). (D)-(II)
(&)-AV). (B)-(D). (C)-AD). (D)-I1D)

= 1% iy = 1 7 e Fifem)

P Ay

T-1

AIEH F THH

~

FI-1T

o o e e e (RTINS o Lo SR s M D ST W o,



N T e g Tl LS R s R - Veao o, B e TR e

= m:{"-

(B) T99TF A (IT) ==2m =@ & st == i =1 9=t ot =

(C) wIfdies 3HEA (III) 3aH % =9 A wared/fawm gon == =
T

= fau fameat § © T8 39 =7 =9 it

1 A-O. B-ID. (O-IID. (D)-IV)
2y  (A)-dD. B)-dID). (C)-IV), (D)-O
(3  @-dD. (B)-AV). (O)-1). (D)-(ID
4  (A)-aV). B)-@. (C)-aDn, M)-I1D

[Question ID = 4348][Question Description = Q72_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16855]
2. 2 [Option ID = 16856]
3. 3 [Option ID = 16857]
4. 4 [Option ID = 16858]

73) " Match List T with List IT
ListI List IT
Constitutional Provisions Purpose
(A) 2431 (I)  Reservation for schedule castes and
Tribes in urban bodies
(B) 243 C (ITYy Gram Sabha
(C) 243T (ITT) State Finance Commission
(D) 243 A (IV) Composition of Panchayats
Choose the correct answer from the options given below :
(1) (A)-(ID. (B)-AV). (O)-(D. (D)-(ID
(2)  A)-dD. B)-0V), (C)-(IID). (D)-(D
(3)  (A)-(ID. (B)-UI). (©)-(D). (D)-(IV)
4 (A)-AV). (B)-(D. (C)-1I), (D)-(IIL)
= 1 % @ gt I 1 faem Fifsn)
-1 TEI-1IT
(A) 2431 (M = e | srghas e ST S\ i &
AT
(By 243C (IT) wrH =47
(C) 243T (ITI) 7= fa smm
D) 243A (IV) W=t 1 713

4= oo fowedi 3 5 58 I F1 99 Fitaw

(1) (A)-(IIT). (B)-(IV). (C)-(I). (D)-(II)
(2) (A)-(IT). (B)-(IV). (C)-(I1I). (D)-(T)
(3) (A)-(IIL). (B)-(II). (C)-(I). (D)-(IV)



(4} (A)-(IV). (B)-(I). (C)-(IT). (D)-(I1T}

[Question ID = 4349][Question Description = Q73_PubAdmin_SHAAN_NOV21]

1. 1 [Option ID = 16859]
2. 2 [Option ID = 16860]
3. 3 [Option ID = 16861]
4. 4 [Option ID = 16862]

74)  Match List T with List IT

List I
Types of Resarch
(A) Discriptive Research

(B) Applied Research
(C) Qualitative Research

(D) Fundamental Research

List IT
Main Focus

(I} Discovering underlylng motives of
human behaviour

(II) Discription of the state of affairs as it
exists at present

(III) Finds a solution for an lmmediate
problem facing a society

(IV) Concerned with generalizations and
formulation of a theory

Choose the correct answer from the options given below :

1)  A-@). B)-ID. (C)-(ID). (D)-IV)
2)  (A)-av), (B)-(I10), (C)-aD, (D)-(I)
(3)  (A)-0D. (B)-(III), (C)-(D). (D)-IV)
4 A)-ID. B)-@). (O-IV), (D)-IID

Tt 1% Ty gt I =1 faem Fifm)
Hefl-1

(A) FHTTEF FIEAH
(B) #ATIT AIHEH
(C) TEETTE SATEEH

(D) Hifers wgEaE

fr=r fau fampeat | & wE 39 1 = il

(1 (A-@. B)-0D). (CO)-(ID. (D)-IV)
2  (A-aV). (B)-II), (C)-ID. M)-O
3 (A-aD. (B)-1D). (C)-I). (D)-IV)
@ A-dD. (B)-(D. (O)-AV). (D)-(IID)

T

o= =vq

(I) WHEE STEE # SAiHEd @5 @i
FAT

(ID) 7= & uWe =91 % 97 aq99F § di9g 2,

(II) TehTere TEEAT F1 HHT 0 50 OF FAT

(IV) v= fagra =+ am=fmw st g
Ty TEad

[Question ID = 4350][Question Description = Q74_PubAdmin_SHAAN_NOV21]

1. 1 [Option ID = 16863]
2. 2 [Option ID = 16864]
3. 3 [Option ID = 16865]
4. 4 [Option ID = 16866]

75)  Match List I with List IT

ListI
Sealing Techniques
(A) Rating scales

(B) Attitudinal scales

List IT
Features or Measures
I To measure an individual's
predisposition towards another

person, object or a phenomenon

(I To  identify  variables  without



(C) Nominal scales

(D) Ordinal scales

quantitative value of label them

(III) To measure a person. object or
phenomenon along a continuum or In
a category

(IV) To measure non-numeric, qualitative
concepts like satisfaction. happiness
etc.

Choose the correct answer from the options given below :

(1) (A-D. B)-ID. (C)-IID. (D)-(IV)
(2)  (A)-D. B)-(1). (C)-ID. (D)-IV)
(3)  (A-D. (B)-@. (O)-1ID. (D)-(IV)
4 (A-ID. B)-(D. (O)-IID. (D)-(IV)

o=l I+ @y g 11 %1 faem i

(A)

(B)

(©)

D)

= fou fapet § © = 39 = fira

ey
(2)
(3)
(4)

-1
(TT= T
Tt g
Afghh AT
T el

FHGEE AT

(A)-TD). B)-(ID). (O)-(IID). (D)-IV)
(A)-@), (B)-(IID), (C)-(ID). (D)-IV)
(A)-(1D). (B)-(D. (C)-(1D. (D)-IV)
(A)-1D. (B)-(I). (C)-(1II). (D)-IV)

TEI-IT
(7= = 7))
(ITT) foFeft waeas & "er = ol =il § =ah,
= F1 "2 A

(IV) @gfe, wodar =8 T-HEAeEE, IS

[Question ID = 4351][Question Description = Q75_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16867]
2. 2 [Option ID = 16868]
3. 3 [Option ID = 16869]
4. 4 [Option ID = 16870]

76)
(A) Purpose
(B) Process
(C) Person
(D) Place

Identify the sequence of the basis of Departmentalization as stated by Luther Gulick

Choose the correct answer from the options given below :

(1)
(2
(3
4

(D). (A). (C) and (B)
(C). (A). (B) and (D)
(A). (B), (C) and (D)
(B). (C). (A) and (D)

TR e g AT faari F AR F wEeg e



(A =T

By ufEFEm

(C) =

(D) T

= f2u T gl 5 | wE 39w =59 Fifau
(1 (D). A, (0. (D)

2 (0. @A), B). D)

(3) (A, @), (C). (D)

4  (B).(0). A). (D)

[Question ID = 4352][Question Description = Q76_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16871]
2. 2 [Option ID = 16872]
3. 3 [Option ID = 16873]
4. 4 [Option ID = 16874]

77)

In establishing conceptual foundations to his theory of 'Democratic Administration' Vincent

Ostrom criticised the principal contributors of administrative theory. Identify the sequence

of Ostroms criticism.

(&)
(B)
(C)
(D)

Herbert Simon and Internal Structure
Max Weber and Hierarchy
Luther Gulick and Organizational Principles

Woodrow Wilson and Unitary Power.

Choose the correct answer from the options given below :

(1
(2)
(3)
(4

(C). (D). (B). (A)
(D). (B). (C). (A)
(D). (B). (4). (O)
(B). (D). (A4). (C)

‘AFAEF TEE F 39 [HgA F AFeEeE AT F aE F § G 3 4 yEed G| #

THF TG FAl311 =l ATATEAT i | SFZH =hi STAMEAT % 38 =l T2 i

(A) =92 faOE 3R A 9

(B) ©9H 9 ¥R w5-T9H

(C) = e 3R FEAF Hg

(D)  FsU A #in ufFE o

= fou U faweT ¥ | 1 39 W =99 i

(1) (C). (D). (B). (&)



(2)
(3)
(4)

(D). (B). (C). (&)
(D). (B). (A). (C)
(B). (D). (A). (C)

[Question ID = 4353][Question Description = Q77_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16875]
2. 2 [Option ID = 16876]
3. 3 [Option ID = 16877]
4. 4 [Option ID = 16878]

78)

The Pendleton Act of 1883 in USA :

(A) Governs the personnel policies of the national government
(B) Abolished the ‘Spoil System’ completely

(®) Created the civil service commission

(D) Introduced the ‘merit system’ throughout the federal government

(E) Was an outcome of the assassination of President Garfield

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A). (C) and (E)
(B). (C) and (E)
(B). (C) (D) and (E)
(4A). (C) and (D)

quam F 1883 /% e sfatme (3)

(A)
(B)
(©)
(D)

(E)

T weT T i i w1 FEE w2
‘Te-mHz TEE Uied 5AE w1 |
T AT AR T

T T TOEE B AT IOl S S|

oI TRHIES i 7o = T 47|

i 30 v faehei § | wE SR W == i

(1)
(2)
(3)
4

(A), (C) # (E)
(B). (C) #i (E)
(B). (C). (D) =i (E)
(A). (C) =1 (D)

[Question ID = 4354][Question Description = Q78_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16879]
2. 2 [Option ID = 16880]
3. 3 [Option ID = 16881]
4. 4 [Option ID = 16882]

79)

The traditional literature on ‘Comparative Government’ focused on

(A) Election machinery

(B) Central Administrative Machinery



(C) Pressure Groups

(D) Public Finance

Choose the correct answer from the options given below :

(1) (A and(B)
(2)  (B)and (C)
(3)  (B)and (D)

4 (C) and (D)

‘GEFICHT TTHR U P AlfEed 4 S G4 Higd AT

(A FTET
(B) s TeIEEE

(C) == @r

[

(D) =

= f2u o faeal § | "R 39 o =9 FA
1) (A= (B)
(2 (B) 31 (C)
(3  (B) (D)

4 (O3 (D)
[Question ID = 4355][Question Description = Q79_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16883]
2. 2 [Option ID = 16884]

3. 3 [Option ID = 16885]
4. 4 [Option ID = 16886]

80) Identify the ascending order of the following officers in Secretariat :

(A)  Director

(B) Joint Secretary
(C) Addl Secretary
(D) Deputy Secretary

(E) Secretary

Code :

(1 @A), [B). D). (E)
@ @D.@A. 3. (0. E
(3 (D). (B). (C). (A). (E)
@ (B).(C). (D). (E). (4)

Tf=eerd = uEiaiar  sfaa s19a F gg=m Fiw|



(B) =T HhE
(C) AT af=a
(D) =9 TA

(E) ==

= f2u o famedi @ 6 wF1 ST =EA S

(1) (A). (B), (D). (C). (E)

(2) (D). (A). (B). (C). (E)

(3) (D). (B). (C). (A). (E)

(4) (B). (O), D). (E). (&)
[Question ID = 4356][Question Description = Q80_PubAdmin_SHAAN_NOV21]
1 [Option ID = 16887]
2 [Option ID = 16888]

3 [Option ID = 16889]
4 [Option ID = 16890]

A W N -

81) Identify the connect sequence of traiming for the IAS cadre after recruitment

(A) Professional
(B) Foundational

(C) Institutional
(D)  Field

Code :

1 B).A). D). ©)
2  B.D.C). &
3  B. . ©). D)
@  (B.(©). D). A

Tl % 912 AAE TEEEE S FIST % TS % T8 F° 1 959E S

i~

(&) FEH
(B)  smaEyE
(C)  Twart=
D) FFs

= f2v o a5 | HE 39 9 =9 A
(1 (B).A). D). ()
2  (B).(D).©). A"
(3) (B A).(C). D)
4  (B.(0). D). "



[Question ID = 4357][Question Description = Q81_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16891]
2. 2 [Option ID = 16892]
3. 3 [Option ID = 16893]
4. 4 [Option ID = 16894]

82) The President of India has the power to address both Houses of Parliament at the

commencement of :

(A) The first session after general elections
(B) Each session of Parliament
(C) The budget session of each vear

(D) The monsoon session of each year

Choose the correct answer from the options given below :
(1)  (B)and (C)
(2) (A) and (D)
(3) (A and(C)
(4)  (B)and (D)
(A) A gAET % W1E I TEe T
(B) T 1 95T T
(C) fa = =1 &=z &

(D) Wi =79 =1 gEE T

= f2u T T 5 H "Rl 39 R =9 ST
(1) (B) = (©)
(2) (A FF D)
(3 (A W (C)
4)  (B) =T (D)

[Question ID = 4358][Question Description = Q82_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16895]
2. 2 [Option ID = 16896]
3. 3 [Option ID = 16897]
4. 4 [Option ID = 16898]

83 : G ; :
) The stages 1n performance budgeting 1s given below. Identify their correct order.
(A) Classification of activities for resource allocation
(B) Identification of implementing alternatives in relation to cost and benefits

(C) Evaluation of physical and financial achievement in relation to established standards

(D) Objectives of each activity to be stated and the fixation of norms/standards for the

same



Choose the correct answer from the options given below :

(D
2
(3)
&)

(D). (C). (B). (A)
(D). (B). (C). (&)
(D). (A). (B). (O)

D). (A). (C). (B)

FoaTEs stz = =y = fou T 2| 39 wE e o geEE R

(A)
(B)
(©

D)

AN A1 AT % a9 o faedl i a0 H Teae

Tonfid AR % HEd § ifew s faee sueedt = geaa

=t f2u o feepem @ ® wE I w0 W i

(1)
(2)
(3)
(4

(D). (C). (B). (&)
(D). (B). (C). (&)
(D). (A). (B). (C)
(D). (A). (C). (B)

[Question ID = 4359][Question Description = Q83_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16899]
2. 2 [Option ID = 16900]
3. 3 [Option ID = 16901]
4. 4 [Option ID = 16902]

84) Arrange the following in a sequence

(A) Invocation — Legislation for policy rules or laws
(B) Prescription — Adoption of policy alternatives
(C) Intelligence — How information is processed to formulate policy objectives
(D)  Application — Enforcement or implementation of policy
Choose the correct answer from the options given below :
(1)  (©).A. D). B
(3) (€). (B). (A). (D)
(4) (€). (D), (A). (B)

frAfeafiga =1 w2 #9 | =fafead =+

(A)  HAEEA — Aifa A F e TeE @ e

(B)

£

Tamn — Fifama fTFea ®1 ST



(C) =g — i 22y it #a = Tofv g=ar =1 (g wn waek S s 2

(D)  HATEF — Hifa F g = FEE

= o U fErepeal | @ WE IO R 99 i

(1) (C). (A). (D). (B)

(2) (C). (B). (D). (&)

(3) (C). (B). (A). (D)

(4 (C). (D), (A). (B)
[Question ID = 4360][Question Description = Q84_PubAdmin_SHAAN_NOV21]
1 [Option ID = 16903]
2 [Option ID = 16904]

3 [Option ID = 16905]
4 [Option ID = 16906]

AW N =

85) Arrange the following in a sequence in which they are to be performed in Data Processing in

soclal research :

(A) Tabulation
(B)  Editing
(C) Classification

(D) Coding

Choose the correct answer from the options given below :
1) ®. D). ©C). A
(2) (B). (C). (A). (D)
(3) (B). (A). (D). (C)
(4) (B). (A4), (C). (D)

Ta=teatiga =1 38 9 ° —aEfean = e JEtas g ® S TEiET 5 s e w56 R

(A) RS
(B) =T
(C) =it
(D)  Fz T

fr= 20 o a8 | HE I 9 A

(1 B. (D). (©). &)
2 B.(0). A). D)
(3 (B. &), D). (©)
@  (B. @A) (©). D)



[Question ID = 4361][Question Description = Q85_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16907]
2. 2 [Option ID = 16908]
3. 3 [Option ID = 16909]
4. 4 [Option ID = 16910]

86)

Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as

Reazon R :

Assertion (A) : State Governments need not be consulted by the centre. when law made
on the subject of concurrent list.

Reason (R) : Center should make law only on those subject in the concurrent list where

uniform policy 1s essential.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and R iz the correct explanation of A
(2) Both (A) and (R) are true and R is NOT correct explanation of A
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= 21 w9 f2u v 2 uE Afewes (Assertion A) TWHW%WWWW{ReaSOHR) *

=T,
AfFTA (A) - oAl g % I W - F w9 % TR gA T9F ORE ° WEE i
% (R) : g HTHE I AHAG] Gl § FAel 39 [G9E WA S =10ET SE whETar i i

A= 2

TR U T ATARR |, A &30 0 e § " gw 39 % 999 i

(1)

(2)

(3)

(4)

(&) site (R) 31 = & siit ), (A) Fi w4 e 2
(&) e (R) 31 7 3, A R), (A) A 7 e 78 2
(A) T 7, = (R) 379 #

(A) 3757 2, @fF (R) 579 =

[Question ID = 4362][Question Description = Q86_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16911]
2. 2 [Option ID = 16912]
3. 3 [Option ID = 16913]
4. 4 [Option ID = 16914]

87)

Given below are two statements :

Assertion (A) : The scheme, Integrated Programme for older persons, was revised in 2008,

Reason (R) : It was revised to include new projects such as maintenance of respite care

homes and continuous carehomes ete.

In the light of the above statements, choose the correct answer from the options given below :



(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement I are false
3 Statement I is true but Statement IT is false

(4) Statement I 1s false but Statement II 1= true

/= 31 Fya fam o E:

FH L 'gg =FEA F On EiEG FEEE ar= 2008 ° Hentad T T o

T A F AR 9, A= U T e § " "R S R = i,

(1)

(2)

(3)

(4)

Foe 1 39 [I 5 59 &
Fy 1 31 I1 51 379 =
Foq 199 2, @4 Fo4 1 794 7

Fo 1 37T 2, o e [L A

[Question ID = 4363][Question Description = Q87_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16915]
2. 2 [Option ID = 16916]
3. 3 [Option ID = 16917]
4. 4 [Option ID = 16918]

88)

Given below are two statements : One 1s labelled as Assertion A and the other is labelled as

Reason R :

Assertion (A):  Governability of policy decisions depends on the support it elicts from
different stakeholders.

Reason (R) : Policy decisions need effective political communication to all stakeholders

for support and cooperation.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and R is the correct explanation of A
(2) Both (A) and (R) are correct and R is NOT correct explanation of A
(3 (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

I= 2 FuE 2 T 2 T HATHRYE (Assertion A) F =9 o fafgd 2 a1 30H ¥ T (Reason R) F

=TT

AR (A) : Fiferra forn =i smeerEa fafie qeife @ o gede m A R



F (R) : Hifemra ot | |l 9riER o TEeE vE gEA UH 0 W o weiE TEEias Ju

=l FTETTHAT 7
ITIF T F ATAE °, A= B2 0 e § F 99 39 % 997 Sy

1) (A R ®) I T E AR R), (A) F wE =mEn 2

(2)  (A) 3R (R) 3 7 #, w6 (R), (A) 1 E =men T4
(3) (A 2, @ (R) #7E T 2

@ (A= FE 2, @ (R) T 2

[Question ID = 4364][Question Description = Q88_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16919]
2. 2 [Option ID = 16920]
3. 3 [Option ID = 16921]
4. 4 [Option ID = 16922]

89) Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R :

Assertion (A):  Public Policy 1s oxygen for growth and development of a country

Reason (R) : No goals of a country 1s achieved without Public Policy

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and R is the correct explanation of A
(2) Both (A) and (R) are true and R is NOT correct explanation of A
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= 71 wuE U U E: wF ARERYE (Assertion A) ¥ =9 H fofgd &A@ O ITF = 0 (Reason R) =

=7 H;

Ed

AR (A) A Hifd 52 il g TR Fwm % o e 2

FAT (R) : AT A1fd & &7 23 F7 5 747 TH Fol 7617

IV FYH T AEE U, A 50 T e ¥ ° wE 39 R 99 i

(1) (A 3R (R) IH1 &3 2 3 (R), (A) 1 @81 v 2
(2) (A) 31T (R) 241 Oed 2, =i (R), (A) =i =1 =ame 951 2
(3) (A== ?, &fF (R) 5797 2

(4)  (A) zE 7, @i (R) 99 2



[Question ID = 4365][Question Description = Q89_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16923]
2. 2 [Option ID = 16924]
3. 3 [Option ID = 16925]
4. 4 [Option ID = 16926]

90)

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R

Assertion (A):  The horizontal networks of public, private and non-profit organizations are

the new structures of governance.

Reason (R) : The collaborative nature of modern efforts to meet human needs rather

than hierarchy and control is the basis of governance.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both (A) and (R) are true and R 1s the correct explanation of A
(2) Both (A) and (R) are true and R 1s NOT correct explanation of A
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= 71wy 2o v 2 uF Afwua (Assertion A) ¥ =9 H fofigd Al TE 36 % #10 (Reason R) %

=

T;

AT (A) - TErwh, w1 HT T GURHT SaA1 1 Stast H2= e 1 THA 2 R

TR WA T STR 2

I FUA F AR H, 419 B T G 4 8 99 39 # 991 Sien

(1

(2)

(3)

4)

(A) 31 (R) 3F1 &3 7 317 (R), (A) F1 =& == 2
(A) 317 (R) =1 ®ex 7, @fF (R), (A) F1 &1 =mwen 77 2
(A) 771 2, #fF (R) 2757 7

(A) 719 2, =T (R) 904 2

[Question ID = 4366][Question Description = Q90_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16927]
2. 2 [Option ID = 16928]
3. 3 [Option ID = 16929]
4. 4 [Option ID = 16930]

Topic:- PubAdmin_B

1) Read the following passage and answer :

Perhaps the most important determinant of the integrity of a society or the prevalence of
corruption is the quality of politics. If politics attracts and rewards men and women of
integrity, competence and passion for public good, then the society i1s safe and integrity is
maintained. But if honesty is in compatible with survival in polities, and if public life
attracts undesirable and corrupt elements seeking private gain. then abuse of authority and

corruption become norm. In such a political culture and climate, desirable initiatives will not

T w . - 2 P - L PR - - @ - .. i 0m = -



ylelld auceuale WIVIAEiths, O Pl tlon alla deelllialilAaliofl Celldlliny redulte CUrTApLiorn 111
certain sectors. But if the demand for corruption 1s fuelled by inexhaustible appetite for
illegal funds in politics. then other avenues of corruption will be forcibly opened up. As a
result, even as corruption declines in certain areas. it shifts to other, sometimes more
dangerous in which competition cannot be introduced and the state exercises a natural
monopoly. What 1s needed with liberalisation is corresponding political and governance
reform to alter the incentives in politics and public office and to promote Integrity and
ethical conduct.

All forms of corruption are reprehensible and we need to promote a culture of zero tolerance
of corrruption. But some forms of corruption are much more pernicious than others and
deserve closer attention. In a vast majority of cases of bribery, the citizen is a victim of
extortion and is compelled to pay a bribe in order to get a service to which he is entitled.
Experience has taught most citizens that there is a vicious cycle of corruption operating and

they often end up losing much more by resisting corruption.

Delays. harrasment. lost opportunity. loss of precious time and wages. uncertainty and. at
times, potential danger of loss of life or limb could result from resistance to corruption and
non-compliance with demands. In such cases, the citizen is an unwilling victim of coercive
corruption. But there are several cases of collusion between the bribe giver and corrupt
public servant. In such cases of collusive corruption. both parties benefit at immense cost of
society. Awarding of contracts for public works and procurement of goods and services,
recruitment of employees, evasion of taxes, substandard projects, collusive wviolation of
regulations. adulteration of foods and drugs, obstruction of justice and concealing or
doctoring evidence in investigation are all examples of such dangerous forms of corruption.
As the economy is freed from state controls, extortion corruption declines and collusive
corruption tends to increases. We need to fashion strong and effective instruments to deal
with this growing menace of collusive corruption. which is undermining the very foundations

of one democracy and endangering society.

Which of the following are the determinants in the context of “quality of politics™?

(A) Prevalence of corruption
(B) Integrity of society
(C) Initiatives and dividends

(D) Reward for men and women of integrity in politics.

Choose the correct answer from the options given below :
(1)  A).B), O
2 (B.(©), D)
(3) (A). (B). (D)
(4) (&). (C), (D)

ol

TUIEE: HATH i SASAT AL W i SAGwAT HT HEcaqu (ui # et i qureEn) 3fg it

WG, AUAEE AT IEEE TEY R D W SH-meaw % v s i WEEd w3, A9 mEe

A B 3 I IEsal 9l WAl 2| W AG TeEiE 0 OITAESE W H9E 7 AR Al wEEeE e

=i =l T 9 TEH A A HT 9 a1 SR BT B, a9 T e S $EER

AT TEEE 99 A 2| S TR TSI BEhd 3R I § AigAE TEerhaEl dgiad o e
e Fl| wfeEifrar @ g FHivad =9 8@ o Fivad & 9 geEn g w9 o[ 2| wg 9 geeEn
F1 A TG § oY 59 WiE i SE g@ ¥ TEed 8, 79 9EEN 6 3T 0F SeRaEdl ge S|

o il A . = o, ", it Ml i ™ B o
S . PN -1 . S, (1T s Y o N YR SN, s 5, it gt PG - 1 L o N~ <JSNSL, - (O 1,



ool LU e, R e e e i s e S L o T L T B T T LR L L Sl s S e R L
AR HATTH AT &A1 H, FE AT 6 RE T A B0 S F5 59 T TG TR
F E9 § FE T 7| F|EHE F @Y TR AETIEA] 7 6 TeEiG i SEEeE § T-gan & oo
Tfads ¥R sTEsa a9 3T EEn F WeEed 7 TeHiiaE S T ga F s FEena w7l

i~

|, ATieF wz-TEe-F1 R a9 @ 3R 58 g w uH % o, e 9 wwen 2, 59w o aw foma

THEA, AT 17 Ff-Ff-sfaT T 9 F TEEE = men-weEnE g o am fi sedeh +
TiomR=ET O 3 TFd 2| 30 TER i 92As ° UF A6 A €9 d SEER W STEE e s
T3-S =l 7 | Bis-Af3 el geEn F geaed |5, @a 1 96 FEa W I # ue =y, " w6 )
ftarsTe, fafmt = giaatagt fay 9se @R g 8 e, = 8 sEig s 5= 9 avdl & oy

DSBS A T= FUAT-A T IE GEER & E@aEE w9 2| 99, e Adegawd U & e | g 7,
TZ-TER T WEEE ¥ A o 2 au sty $yen Fia-s Al 9een § 9ty 5 2| 26 sEeasha
T T, A AT Fi AE F GhEen #9 TE & A8 56 F @a | o w2

‘it i e % Ha A frefofan @ w9 @ i a8
(A)  9EER F TEeH

(B) @A &l a@Eal

(C)  U=eTHgiwal 3T &y

(D) TG H amEsar 9t e H A % o gren

= f2o o fome § @ g7 = g

1 (A B, (©)
(2)  (B). (). (D)

(3)  (A).B). D)
(4) (A). (C). (D)

[Question ID = 4367][Question Description = Q91_PubAdmin_SHAAN_NOV21]
1.1

[Option ID = 16931]
2.2

[Option ID = 16932]
3.3

[Option ID = 16933]
4. 4

[Option ID = 16934]

2) Read the following passage and answer :



Perhaps the most important determinant of the integrity of a society or the prevalence of
corruption is the quality of politics. If politics attracts and rewards men and women of
integrity. competence and passion for public good, then the soclety 1s safe and integrity is
maintained. But if honesty is in compatible with survival in politics. and if public life
attracts undesirable and corrupt elements seeking private gain, then abuse of authority and
corruption become norm. In such a political culture and climate, desirable imitiatives will not
vield adequate dividends. Competition and decentralization certainly reduce corruption in
certain sectors. But if the demand for corruption is fuelled by inexhaustible appetite for
illegal funds in politics, then other avenues of corruption will be forcibly opened up. As a
result, even as corruption declines In certain areas, it shifts to other, sometimes more
dangerous In which competition cannot be introduced and the state exercises a natural
monopoly. What 1s needed with liberalisation is corresponding political and governance
reform to alter the incentives in politics and public office and to promote integrity and
ethical conduct.

All forms of corruption are reprehensible and we need to promote a culture of zero tolerance
of corrruption. But some forms of corruption are much more pernicious than others and
deserve closer attention. In a vast majority of cases of bribery, the citizen is a victim of
extortion and is compelled to pay a bribe in order to get a service to which he is entitled.
Experience has taught most citizens that there 1s a viclous cyele of corruption operating and

they often end up losing much more by resisting corruption.

Delays. harrasment. lost opportunity. loss of precious time and wages. uncertainty and. at
times, potential danger of loss of life or limb could result from resistance to corruption and
non-compliance with demands. In such cases. the citizen is an unwilling victim of coercive
corruption. But there are several cases of collusion between the bribe giver and corrupt
public servant. In such cases of collusive corruption. both parties benefit at immense cost of
society. Awarding of contracts for public works and procurement of goods and services,
recruitment of employees, evasion of taxes, substandard projects. collusive violation of
regulations, adulteration of foods and drugs, obstruction of justice and concealing or
doctoring evidence in Investigation are all examples of such dangerous forms of corruption.
As the economy 1s freed from state controls, extortion corruption declines and collusive
corruption tends to Increases. We need to fashion strong and effective instruments to deal
with this growing menace of collusive corruption. which is undermining the very foundations

of one democracy and endangering society.

The inexhaustable appetite for illegal funds in politics leads to

(1) competition and decentralisation

(2) competence and passion for public good
(3) state monopoly of all sectors

(4) opening of new avenues for corruption

TUIEE: HATH i SASAl AU W i SA9HAT T HEcaqul (a2 et i e 3ty aeita

s, AHAEE A SO TN SR fEE # H-Feam + fow oA it vEd w7, 99 e
e 2 38 I9H s a4 Wl 2| Wg A TeEd § INEEE w1 79E 2 OER AR mEEeE e
AT TEEE 7 A 2| S TR A TSI SR 3R FAE 0 AgAE TEerhamEl Tgtad e e
#Fi 7 T § wEg 99 Wi A S99 yE ¥ uienod 2, 99 WEER % 59 A7 eRasl g wn|

TROTEEE, WUEE A F9 G & 9 #9 f w7 R, 9% g6 A 9 wemta w8, wH-ae
IR AIF AR & H, Fal M 6 RE WA T8 Sl 31 F6T 59 T W TR
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(2) I HeAl = T SEd AT S R
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[Question ID = 4368][Question Description = Q92_PubAdmin_SHAAN_NOV21]
1.1

[Option ID = 16935]
2.2

[Option ID = 16936]
3.3

[Option ID = 16937]
4. 4

[Option ID = 16938]
3) Read the following passage and answer :

Perhaps the most important determinant of the integrity of a society or the prevalence of
corruption is the quality of politics. If politics attracts and rewards men and women of
integrity, competence and passion for public good, then the society is safe and integrity is
maintained. But if honesty is in compatible with survival in politics. and if public life
attracts undesirable and corrupt elements seeking private gain. then abuse of authority and
corruption become norm. In such a political culture and climate, desirable initiatives will not
vield adequate dividends. Competition and decentralization certainly reduce corruption in
certain sectors. But if the demand for corruption is fuelled by inexhaustible appetite for
1llegal funds in politics. then other avenues of corruption will be forcibly opened up. As a
result, even as corruption declines In certain areas. it shifts to other, sometimes more
dangerous in which competition cannot be introduced and the state exercises a natural
monopoly. What 1s needed with liberalisation is corresponding political and governance
reform to alter the incentives in politics and public office and to promote integrity and
ethical conduct.



All forms of corruption are reprehensible and we need to promote a culture of zero tolerance
of corrruption. But some forms of corruption are much more pernicious than others and
deserve closer attention. In a vast majority of cases of bribery, the citizen is a victim of
extortion and is compelled to pay a bribe in order to get a service to which he 1s entitled.
Experience has taught most citizens that there is a vicious cycle of corruption operating and

they often end up losing much more by resisting corruption.

Delays, harrasment, lost opportunity, loss of precious time and wages, uncertainty and, at
times, potential danger of loss of life or limb could result from resistance to corruption and
non-comphiance with demands. In such cases, the citizen 1s an unwilling victim of coercive
corruption. But there are several cases of collusion between the bribe giver and corrupt
public servant. In such cases of collusive corruption. both parties benefit at immense cost of
society. Awarding of contracts for public works and procurement of goods and services,
recruitment of employees, evasion of taxes, substandard projects. collusive violation of
regulations. adulteration of foods and drugs. obstruction of justice and concealing or
doctoring evidence in investigation are all examples of such dangerous forms of corruption.
As the economy iz freed from state controls. extortion corruption declines and collusive
corruption tends to increases. We need to fashion strong and effective instruments to deal
with this growing menace of collusive corruption, which is undermining the very foundations

of one democracy and endangering society.

Which of the following are the consequences of resisting corruption and/or non-compliance of
demand?

(A) Delays

(B) Missed opportunity
(C) Rewards

(D)  Loss of life or limb

Choose the correct answer from the options given below :

1 A.®G). O
2  (A).@B. D
(3 (B.(C). D)
4 (A (). D)
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4) Read the following passage and answer :

Perhaps the most important determinant of the integrity of a society or the prevalence of
corruption is the quality of politics. If politics attracts and rewards men and women of
integrity. competence and passion for public good, then the soclety 1s safe and integrity is
maintained. But if honesty is in compatible with survival in politics. and if public life
attracts undesirable and corrupt elements seeking private gain. then abuse of authority and
corruption become norm. In such a political culture and climate, desirable imitiatives will not
vield adequate dividends. Competition and decentralization certainly reduce corruption in
certain sectors. But if the demand for corruption is fuelled by inexhaustible appetite for
illegal funds in politics, then other avenues of corruption will be forcibly opened up. As a
result, even as corruption declines In certain areas, it shifts to other, sometimes more
dangerous In which competition cannot be introduced and the state exercises a natural
monopoly. What is needed with liberalisation is corresponding political and governance
reform to alter the incentives in politics and public office and to promote integrity and
ethical conduct.

All forms of corruption are reprehensible and we need to promote a culture of zero tolerance
of corrruption. But some forms of corruption are much more pernicious than others and

deserve closer attention. In a vast majority of cases of bribery, the citizen is a victim of



extortion and 1s compelled to pay a bribe 1n order to get a service to which he 1s entitled.
Experience has taught most citizens that there 1s a vicious cycle of corruption operating and

they often end up losing much more by resisting corruption.

Delays, harrasment. lost opportunity. loss of precious time and wages. uncertainty and. at
times, potential danger of loss of life or limb could result from resistance to corruption and
non-compliance with demands. In such cases. the citizen is an unwilling victim of coercive
corruption. But there are several cases of collusion between the bribe giver and corrupt
public servant. In such cases of collusive corruption. both parties benefit at immense cost of
society. Awarding of contracts for public works and procurement of goods and services,
recruitment of employees, evasion of taxes. substandard projects. collusive violation of
regulations. adulteration of foods and drugs., obstruction of justice and concealing or
doctoring evidence in investigation are all examples of such dangerous forms of corruption.
As the economy is freed from state controls, extortion corruption declines and collusive
corruption tends to increases. We need to fashion strong and effective instruments to deal

with this growing menace of collusive corruption. which is undermining the very foundations

of one democracy and endangering society.

In Coercive corruption. the citizen is

(1) A willing partner
(2) A willing collaborator in corrupt activities
(3) An unwilling vietim

(4) A corrupt public servant
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5) Read the following passage and answer :

Perhaps the most important determinant of the integrity of a society or the prevalence of
corruption is the gquality of politics. If politics attracts and rewards men and women of
integrity, competence and passion for public good, then the society 1s safe and integrity 1s
maintained. But if honesty 1s in compatible with survival in polities, and if public life
attracts undesirable and corrupt elements seeking private gain, then abuse of authority and
corruption become norm. In such a political culture and climate, desirable initiatives will not
vield adequate dividends. Competition and decentralization certainly reduce corruption in
certain sectors. But if the demand for corruption is fuelled by inexhaustible appetite for
illegal funds in politics. then other avenues of corruption will be forcibly opened up. As a
result, even as corruption declines in certain areas. it shifts to other, sometimes more
dangerous in which competition cannot be introduced and the state exercises a natural
monopoly. What 1s needed with liberalisation is corresponding political and governance
reform to alter the incentives in politics and public office and to promote Integrity and
ethical conduct.

All forms of corruption are reprehensible and we need to promote a culture of zero tolerance
of corrruption. But some forms of corruption are much more pernicious than others and
deserve closer attention. In a vast majority of cases of bribery, the citizen is a victim of
extortion and is compelled to pay a bribe in order to get a service to which he 1s entitled.
Experience has taught most citizens that there is a vicious cycle of corruption operating and

they often end up losing much more by resisting corruption.

Delays, harrasment, lost opportunity, loss of precious time and wages, uncertainty and, at
times, potential danger of loss of life or limb could result from resistance to corruption and
non-comphiance with demands. In such cases, the citizen 1s an unwilling victim of coercive
corruption. But there are several cases of collusion between the bribe giver and corrupt
public servant. In such cases of collusive corruption. both parties benefit at immense cost of
society. Awarding of contracts for public works and procurement of goods and services,
recruitment of employees, evasion of taxes, substandard projects. collusive violation of
regulations. adulteration of foods and drugs. obstruction of justice and concealing or

doctoring evidence in investigation are all examples of such dangerous forms of corruption.



As the economy 1s freed from state controls, extortion corruption declines and collusive
corruption tends to Increases. We need to fashion strong and effective instruments to deal
with this growing menace of collusive corruption. which is undermining the very foundations

of one democracy and endangering society.

Liberalisation and an economy free from state control tends to increase

(1) Collusive corruption
(2) Coercive corruption
(3) Extortion corruption

(4) Corrupt public servant
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1)

Read the following passage and answer :

Urbanization is a global phenomenon. Over half of the global population now live in urban
areas and as per United Nations projection by 2050 about 64% of developing would and 86%
of developed would be urban. This growth will be much in Asla and Africa and these
continents have more towns and cities. The UN projection on India states that India would
reach 40% urban by 2030 and over 51% by 2050. As per McKinsey projections by 2030 five
states viz., Tamilnadu. Gujarat, Maharastra. Karnataka and Punjab will be more than 50%
urban. Even as per 2011 census a gquarter of the districts have urbanization higher than the
national average. Village culture in characterized by common blood lines, intimate
relationships and communal behaviour where as urban culture is characterized by different
blood hines, unfamiliar relations and competitive behaviour. In present times, urbanization
and migration of people from rural to urban area began with industrial revolution and is
taking place on global scale. This results unthinkable size of cities. Growth of industries in
urban areas, inability of rural areas to absorb growing population, better and increased
employment opportunities, desire to have better standard of life, social mobility and fortune,
increase in educational and health facilities, better civic services are to be considered as the
basic causes of urbamzation. These facts are cause of migration and the roots of natural
increase of urban growth. Migration should not be considered only from rural to urban and it
can be urban to urban too.

In India urban area characters are defined by the census. The Census definition formulated
in 1971 continue to be adopted in successive census. As per the definition of urban is :

(A) Minimum of 5000 population
(B) Atleast 75% working population should be non-agricultural and

(C) Population density of at least 400 in a square km. Population land use. density.
employment etec are broadly the components of urban definition with variations between
countries. Most of the countries the population of 5000 to be called urban. but 200 in
Denmark, Japan and China with very higher thresholds of 50,000 and 1.00,000
population respectively. Some countries use infrastructure and service provisions also
criteria for defining urban area. Hence it 1s a problems of meamngful comparison at
international level.

Increased pace of urbanization required better Governance of cities and towns. For better
Governance various reforms required viz.. property tax, E-Governance. public private
partnerships, corporate social responsibility, citizen character, service level bench marks,
local body ombudsman. strengthening finance commissions ete. These reforms would
provide Good urban Governance. Green plan and budget, pollution control, air quality
improvement and also necessary. 15® Finance commission In its report mentioned that
specific tied grants to urban local bodies be given, particularly to million plus cities, to
control air pollution.

Which of the factors characterize urban culture?

(A) Intimate relationship

(B) Distant blood lines

(C) Competetive behaviour

(D) Communal behaviour
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Read the following passage and answer :

Urbanization 1s a global phenomenon. Over half of the global population now live in urban
areas and as per United Nations projection by 2050 about 64% of developing would and 86%
of developed would be urban. This growth will be much in Asia and Africa and these
continents have more towns and cities. The UN projection on India states that India would
reach 40% urban by 2030 and over 51% by 2050. As per McKinsey projections by 2030 five
states viz.. Tamilnadu. Gujarat. Maharastra. Karnataka and Punjab will be more than 50%
urban. Even as per 2011 census a quarter of the districts have urbanization higher than the
national average. Village culture in characterized by common blood lines, intimate
relationships and communal behaviour where as urban culture is characterized by different
blood lines, unfamiliar relations and competitive behaviour. In present times. urbanization
and migration of people from rural to urban area began with industral revolution and is
taking place on global scale. This results unthinkable size of cities. Growth of industries in
urban areas, inability of rural areas to absorb growing population, better and increased
employment opportunities, desire to have better standard of life, social mobility and fortune,
increase in educational and health facilities. better civic services are to be considered as the
basic causes of urbanization. These facts are cause of migration and the roots of natural
increase of urban growth. Migration should not be considered only from rural to urban and 1t
can be urban to urban too.

In India urban area characters are defined by the census. The Census definition formulated
in 1971 continue to be adopted in successive census. As per the definition of urban is :

(A) Minimum of 5000 population
(B) Atleast 75% working population should be non-agricultural and

(C) Population density of at least 400 In a square km. Population land use, density,
employment etc are broadly the components of urban definition with variations between
countries. Most of the countries the population of 5000 to be called urban. but 200 in
Denmark., Japan and China with very higher thresholds of 50,000 and 1.00,000
population respectively. Some countries use infrastructure and service provisions also
criteria for defining urban area. Hence it 13 a problems of meaningful comparison at
international level.

Increased pace of urbanization required better Governance of cities and towns. For better
Governance various reforms required viz., property tax, E-Governance, public private
partnerships. corporate social responsibility, citizen character, service level bench marks,
local body ombudsman, strengthening finance commissions etc. These reforms would
provide Good urban Governance. Green plan and budget. pollution control, air quality
improvement and also necessary. 15® Finance commission in its report mentioned that
specific tied grants to urban local bodies be given. particularly to million plus cities. to
control air pollution.

According to United Nations projections :
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(B) African continent will have more towns and citles
(C) Developed world stagnate in urban growth

(D)  Asian population migrates in reverse
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Read the following passage and answer :

Urbanization 1s a global phenomenon. Over half of the global population now live in urban
areas and as per United Nations projection by 2050 about 64% of developing would and 86%
of developed would be urban. This growth will be much in Asia and Africa and these
continents have more towns and cities. The UN projection on India states that India would
reach 40% urban by 2030 and over 51% by 2050. As per McKinsey projections by 2030 five
states viz., Tamilnadu. Gujarat, Maharastra. Karnataka and Punjab will be more than 50%
urban. Even as per 2011 census a quarter of the districts have urbanization higher than the
national average. Village culture in characterized by common blood lines. intimate
relationships and communal behaviour where as urban culture i1s characterized by different
blood lines, unfamiliar relations and competitive behaviour. In present times. urbanization
and migration of people from rural to urban area began with industrial revolution and is
taking place on global scale. This results unthinkable size of cities. Growth of industries in
urban areas, inability of rural areas to absorb growing population, better and increased
employment opportunities, desire to have better standard of life, social mobility and fortune,
increase in educational and health facilities. better civic services are to be considered as the
basic causes of urbanization. These facts are cause of migration and the roots of natural
increase of urban growth. Migration should not be considered only from rural to urban and it
can be urban to urban too.

In India urban area characters are defined by the census. The Census definition formulated
in 1971 continue to be adopted in successive census. As per the definition of urban is :

(A) Minimum of 5000 population
(B) Atleast 75% working population should be non-agricultural and

(C) Population density of at least 400 in a square km. Population land use., density.
employment etec are broadly the components of urban definition with variations between
countries. Most of the countries the population of 5000 to be called urban, but 200 in
Denmark, Japan and China with very higher thresholds of 50,000 and 1.00.000
population respectively. Some countries use infrastructure and service provisions also
criteria for defining urban area. Hence it 1s a problems of meaningful comparison at
international level.

Increased pace of urbanization required better Governance of cities and towns. For better
Governance various reforms required viz.. property tax, E-Governance. public private
partnerships. corporate social responsibility, citizen character, service level bench marks,
local body ombudsman. strengthening finance commissions etc. These reforms would
provide Good urban Governance. Green plan and budget. pollution control, air quality
improvement and also necessary. 15® Finance commission In its report mentioned that
specific tied grants to urban local bodies be given, particularly to million plus cities, to
control air pollution.

In India urban area characters were defined by

(1)
(3)

Government of India Act (2) Census of India

Characters will change in time (4) As per the provisions of local bodies
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T, THE FEG AR THEE A A TR F e # st fafas e, sl wey i
Tofaamfi sAr=en Wet BeFfd & ATHAT 7| FAAE TEA °§ TR AT AHE A6 § R & § A+
WHA T R S wid H g H Svasardl T W A W F| S8 9eid 9l i ST FHogAdid wl
T 2| W &= | wEe v faem, wedt g2, S w5 o 9§ grdion g w6 s w6 T
Sl AU AfE AT, SEat St F1 5=a1, AT Tasiear 9 Gier, e au s g |
gig 1N Sma ATIE Ha1eT B TEF Gl B F w9 F GG WE0| T 9% T F BEA 7 S0
ot foeprm 1 3fg F g9 9 #| T F FAa aHm | wE F w9 5 6 afew vat ¥ e & w9 A

Gd | FET § R G % S I e S 21 1971 § S99 T ST 1 O o
F1 wefi e d ot e T 2| sE aEn el A it 2 (a) =Ean 5000 ST B A
(b) ZHSHE FEE F FH W FH 75% WP FE § TAN =E1 A0EY; AT () FH OH FH 400 WA 7

el =1 SGEET e BT SIEU| SHEEA, WiH T I9EE, Oel, TSR SoAle Wi & o wed i
URHTIT % gEw B SN S9H U 29 § gEL 99 ° WIS wiEdd wid 3| AT g9 8 5000 i S w
TE FE T R W S 0 A T 200 A 2 @i A 3R 96§ 3 o amd w E, F
50,000 HW 1,00,000 FFEET| e &7 =1 UfAGd F F GEES & B9 B9 FF 29 AGNYA T A0

TAT WS A il ST W TA0T A 7| SE A ARG T UL @0 g i gae 2

e i sl 22 i % o st 1 SR AfeE A 5 2| swe Atgeed o+ fow fafim
T TR O UAE, e e simesed, fam owse o gerfieee senie | T gun ® 39 o
wfeemee foem| 2fa 3 a9, ggaw A o 9 e § 3w oft atewas 2 1S 9 e amm A
ot foe ==t 9 e = el w1 F o et wurm et = e o g oatas
A 9 A, T g wgem e et

9T § Wl & % Aan F e afrre e

(1) T BORE HATEE (2) wrd F TP

(3)  THA % WY AL § UhEe = (4) TUEE A F TEEE e
[Question ID = 4374][Question Description = Q98_PubAdmin_SHAAN_NOV21]
1.1

[Option ID = 16959]

2.2

[Option ID = 16960]

3.3

[Option ID = 16961]

4. 4

[Option ID = 16962]

4) Read the following passage and answer :

Urbanization 1s a global phenomenon. Over half of the global population now live in urban
areas and as per United Nations projection by 2050 about 64% of developing would and 86%
of developed would be urban. This growth will be much in Asia and Africa and these



continents have more towns and cities. The UN projection on India states that India would
reach 40% urban by 2030 and over 51% by 2050. As per McKinsey projections by 2030 five
states viz., Tamilnadu. Gujarat, Maharastra. Karnataka and Punjab will be more than 50%
urban. Even as per 2011 census a quarter of the districts have urbanization higher than the
national average. Village culture in characterized by common blood lines, intimate
relationships and communal behaviour where as urban culture is characterized by different
blood lines, unfamiliar relations and competitive behaviour. In present times, urbanization
and migration of people from rural to urban area began with industrial revolution and is
taking place on global scale. This results unthinkable size of cities. Growth of industries in
urban areas, inability of rural areas to absorb growing population, better and increased
employment opportunities, desire to have better standard of life, social mobility and fortune,
increase in educational and health facilities. better civic services are to be considered as the
basic causes of urbanization. These facts are cause of migration and the roots of natural
increase of urban growth. Migration should not be considered only from rural to urban and it
can be urban to urban too.

In India urban area characters are defined by the census. The Census definition formulated
in 1971 continue to be adopted in successive census. As per the definition of urban is :

(A) Minimum of 5000 population
(B) Atleast 75% working population should be non-agricultural and

(C) Population density of at least 400 in a square km. Population land use. density.
employment etc are broadly the components of urban definition with variations between
countries. Most of the countries the population of 5000 to be called urban. but 200 in
Denmark, Japan and China with very higher thresholds of 50,000 and 1.00,000
population respectively. Some countries use infrastructure and service provisions also
criteria for defining urban area. Hence it is a problems of meaningful comparison at
international level.

Increased pace of urbanization required better Governance of cities and towns. For better
Governance various reforms required viz.. property tax, E-Governance. public private
partnerships, corporate social responsibility, citizen character, service level bench marks,
local body ombudsman. strengthening finance commissions etc. These reforms would
provide Good urban Governance. Green plan and budget, pollution control, air quality
improvement and also necessary. 15® Finance commission In its report mentioned that
specific tied grants to urban local bodies be given, particularly to million plus cities, to
control air pollution.

Which finance commission linked the grants to local bodies with an objective of control air
pollution?

(1) 14 Finance Commission (2) 10™® Finance Commission

(3) 15™ Finance Commission (4) 13™ Finance Commission

sl dftrs gz 81 favasndt Sz i ot @ st o el AT 0 w2 ool m@ge e Oy

(7m) i wfd F F7EE 2050 7% HEwelia Fva fi 64% FgE v fawfaa fawa 1 s6% =l &
STt 7 Iig e R siER § wEd w0 o o geridt 0 wfas e 9 TR 26| 9 W g T
T HIA B OF 2030 TF WA I 40% FAEEA A=A A AN AR 2050 T 51% H HATAH| A H

WAl % HTER 2030 79 Uie W91, AU AHeTs, T, e, #Aes A a6, i SEen 50%
o safers T 7Rf| 2011 i TR F wEn o vE-Sur T 8 i e sitea g s 2 o
TIFH, THY A S AYEAF AT AH TR F ATTAEA £ SEi Gt Josen, suiied gey w1
forferiti srrerer wedt ToFia & Stqers 2| 9duE HHE 0 WEwr S g & § el A 5 e
T AR AR FiG H R AT fAvasad TR W A W 2| $6E qed WA A SR Fe Al

AT 7| wEd &= T o e, sedl 52, SEeE B m O 0y & w5 smnd w6, 19 6
S AU HGE HTEL, Seal SEE Hl S, AHITE Tasieal 9 G, T au e gaae |
(g AT FFA AT AT T TEFT G FA F FT H G WEC| T T TG F BT 7 AR
wedt foprm it gfg F 7= § | TEEA F HaAa A # wwh % w9 A 96 afow vl ¥ wef =9 4 f

g1 =TET

A § FAE ° wEd & Sen F ufvaria e s 21 1971 H w9 T S i afeqr w5 oA

g e i s - - ol B b o - . - i &



=l OHT SHTIERAT 7 AT A9 T30 =] 3495 AU AR =l YA & () JAd73 5000 SHUEAT 24 =0eT,;
(b) AT T F FH T FH 75% W-FHM HE B TN BT AN AT () FHOH FH 400 T

el =1 SEEET e BT WIEU| WA, Wiy w1 I9ErT, O, TSR Sedne Wi dit we wed i
gitaTeT % HeE @ R T v o9 @ gE 59 A WIS uREed #d 81 sifahe 39 4 5000 i SEwn
T FE T R W AN 0 A A 200 A 2 S e 3R F6 8 3 i am ew E, F
50,000 T 1,00,000 FTEE| T &9 F GRS FH & AELS F Y 04 F9 29 ATGRYd HeEA AR

TAT WS A il ST W TE0T B 7| SE A AR T UL @ g i gae 2

T TR F M, e e simeseie, fam o aee o gerheee sonie ) o gan ® 39 o
wAfemea faerm| 2f@ Jsm a2, wguw FEam o 9 e § gen ff aEvas B 1S 9 o |
ot foae o ==t 1 9 v = FEbE w6 F S aeh wurE et w e o e o oatas

A 9 A, fafre g wgem e e et

o fam s 3 T T e T a1 A T T I | e

(1) 147 f39 s (2 10 37 fo7 s
(3) 15 = fam s (4) 139 o= sEm

[Question ID = 4375][Question Description = Q99_PubAdmin_SHAAN_NOV21]

1.1

[Option ID = 16963]

2.2

[Option ID = 16964]

3.3

[Option ID = 16965]

4. 4

[Option ID = 16966]

3)

Read the following passage and answer :

Urbanization is a global phenomenon. Over half of the global population now live in urban
areas and as per United Nations projection by 2050 about 64% of developing would and 86%
of developed would be urban. This growth will be much in Asia and Africa and these
continents have more towns and cities. The UN projection on India states that India would
reach 40% urban by 2030 and over 51% by 2050. As per McKinsey projections by 2030 five
states viz., Tamilnadu. Gujarat. Maharastra. Karnataka and Punjab will be more than 50%
urban. Even as per 2011 census a gquarter of the districts have urbanization higher than the
national average. Village culture in characterized by common blood lines, intimate
relationships and communal behaviour where as urban culture is characterized by different
blood lines, unfamiliar relations and competitive behaviour. In present times. urbanization
and migration of people from rural to urban area began with industrial revolution and is
taking place on global scale. This results unthinkable size of cities. Growth of industries in
urban areas, inability of rural areas to absorb growing population. better and increased
employment opportunities, desire to have better standard of life, social mobility and fortune,
increase in educational and health facilities. better civic services are to be considered as the
basic causes of urbanization. These facts are cause of migration and the roots of natural
increase of urban growth. Migration should not be considered only from rural to urban and it
can be urban to urban too.

In India urban area characters are defined by the census. The Census definition formulated
in 1971 continue to be adopted in successive census. As per the definition of urban is :

(A) Minimum of 5000 population
(B) Atleast 75% working population should be non-agricultural and

(C) Population density of at least 400 in a square km. Population land use, density.
employment etc are broadly the components of urban definition with variations between

et it Bl e e e el o P S far = iR L T



countries. Aost 01 LNe COUunitries e populldltlon ol 2UUU 1o De Called Urpdarl, DUl AUl 1n
Denmark., Japan and China with very higher thresholds of 50,000 and 1.00,000
population respectively. Some countries use infrastructure and service provisions also
criteria for defining urban area. Hence it 13 a problems of meaningful comparison at
international level.

Increased pace of urbanization required better Governance of cities and towns. For better
Governance varlous reforms required viz.. property tax, E-Governance. public private
partnerships. corporate social responsibility, citizen character, service level bench marks,
local body ombudsman, strengthening finance commissions etc. These reforms would
provide Good urban Governance. Green plan and budget. pollution control, air quality
improvement and also necessary. 15® Finance commission in its report mentioned that
specific tied grants to urban local bodies be given, particularly to million plus cities, to

control air pollution.

For good urban governance the following reforms are necessary : Choose the correct answer
among the following

(A) corporate soclal responsibility and green budget

(B) vibrant social media and civil society

(C) strengthening local finances and housing for needy

(D service level bench marks and local body Ombudsman

(1) (A). (B). (C)

(2) (B). (C). (D)

(3) (A). (D)

4 (B). (C)

wTEE dfers geAr 21 favasad sewe i andl @ sifuw s sl A7 6 w2 eI m@ge g Ty

(7) i wfd F FHER 2050 7% HwmEelia Gva fi 64% FgEAn v fawiaa fava 1 86% = A
Tt A Jhg TRE R SAGER ¥ WEd w6 AR S AR °§ A9 T 9 TR w6 96 WO T
T FIA £ F 2030 TH 9EA F 40% TR TEA A FOA R 2050 7% 51% T Atw| GfE 6

WAl FTER 2030 99 Uie W41, AYTG AHeTs, T, HEY, FAeE A uwE, i S 50%
@ Afes T 7Fi 2011 TR F AR ot vE-Sun e @ et T sitea 3 owtew B vw
T, THE FEY 3 A A= A S F e £ et i e, afiee wey e
fofemmtt sTreror wedt ToFfa % wfqeam 3| 990E H0F O R SR g & el A g o+
TEEA T TRE S FG W A AN EvEsa T W R W 2| 556 9o 9 W AT FedE B

ST 2| W &= ° T e, Sedl 52, SHEeE B T 9 | 9w &6 F smnd 26, 9 5
AEAT qUT ATTF AT, ArAl AT il TEI, WETTE Tauier 7 @, e qu wmes g §
Ifg AN SEa AT AT B TEOEO % Gl HAO & FY F G =0T T 92 TAET F B 2 AR
ot foebrm 1 afg % g1 6 #1 wEEA H A WHI ° WAl % w9 H 94 afew wal H§ uai & w9 5

qRA § A ° WE & % A w0 e R S 21 1971 § §ATS e SAET Sht 9iET HowE

F1 weft SIS § i S T 2| 36 SEn e o 9T 2 () =EaE 5000 ST 2 SR
(b) AT STHEE FT FH T FH 75% W-FHM FE T GAN 24 A1ME; T () FH T FH 400 T

Tl 1 e g9 B Sifen) SAEe, qiE W S, S, TR Soae ®id 9 W el &
uftaTsn % = 3 R Tod UF 9 @ g@ 2 A A4S ufEdd w9 3| sfawe 39§ 5000 H SEen w
T FAT TR W AT 0 97 AT 200 A 2 @ A9E 3R 96§ 3 #fiad 9w w2, Fe
50,000 3R 1,00,000 SEET| TR &1 F RGN 1 F FES F 9 09 F9 39 SERYT T AT

AT WS A ol ST 1 Wi TA0T #d 2| SE T8 ARTEE T U @ g i dHe 2

TTEARO ] WAl B2 i % T et o SEA ATHOE AEvE 7S 2| SEa sAtenen & fow
T EE H UM, A e simEseE, G s o gerheee senis | T gun ® 39 9
wfeame e | 2fa Fs a9, T A SR 9 e § guR o oevas 7 1S 9 @ e |



T fo o == T 9 e = e T F T e Taem S e 5 A T i

A 9 A, e g wgem s et

3o el wAfaeE =+ fore Frfefiaa gun s ) 2 e el 8 4 w8 =9 0 =

(&)
(B)
(©)
(D)

(1)
2)
(3)
(4)

TTea o SeaeE 3 =i 992

g Ao {itsgr # TTies wars

(A). (B). (C)
(B). (C). (D)
(A). (D)
B). (C)

[Question ID = 4376][Question Description = Q100_PubAdmin_SHAAN_NOV21]

1.

2.

3.

1

[Option ID = 16967]

2

[Option ID = 16968]

3

[Option ID = 16969]
4. 4

[Option ID = 16970]

Topic:- GP_Set6_A

1)

The following table embodies the details about the production and profit of two items I and II
by seven different companies A-G. Cost of the total production of both items together by

seven companies 1s Rs. 25 crores. Bazed on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production Ttemsz I and IT Earned for
Items I Items II
A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:h 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% i 30% 24%

Freita e ° &1 Fgel [ 3R 11 1 909 o7 -390 FEa A — G GRT 3095 T o F e 2
AT FEAT GRT 21 ST & T =Y I S B @0 . 25 FS B | afctEl 3 20 T ATRsl &

IR 9T 09T 1 I i |

FEHET | T oA &g [ vd =g II oTH =Y i aiaEa
1 TfAvaar (%) | T T 3o I

Y g1 | mmI
A 15% 248 25% 20%
B 11% 352 32% 356%
C 22% 4:1 20% 22%
D 08% 3:56 15% 25%
E 27% 53 28% 30%
iE) 05% 1:4 35% 25%
G 12% 1:2 30% 24%




Cost of production of item I by company F 1s what percent (%) of the cost of production of
item II by company D?

(1) 16% (2) 66.67%
(3) 33.33% 4) 20%

Fel F g7 o5d 1 % Sca1ad =l @rTd =i Sfcwiaar #=01 D gin a%g 11 % Sediaq oht «Fa b1 g |

(1) 16% (2) 66.67%
(3) 33.33% (4) 20%

[Question ID = 4899][Question Description = Q01_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19059]
2. 2 [Option ID = 19060]
3. 3 [Option ID = 19061]
4. 4 [Option ID = 19062]

2) The following table embodies the details about the production and profit of two items I and II

by seven different companies A-G. Cost of the total production of both items together by
seven companies i1 Rs. 25 crores. Bazed on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production Ttems I and II Earned for
Items 1 Items II
A 15% 2:3 25% 20%
B 11% 32 32% 35%
C 22% 4:1 20% 22%
D 08% 3:5 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% I 30% 24%
F=itFa et | a1 aega 1 w0 11 1 31 e -390 R A — G g1 30T Ud &Y 1 T 7

Tl AT SR SHT SEgHAT % U A1 30T B Fe A0 25 S § | il ° 50 T smesl %
FYR W A7 F1 I A0 |

FOAET 3eqEA S T A

FEHET | T oA a5g [ vd =g II oTH AT i afarEa
1 TAoEadT (%) | F AT TeqEA F AT

Y g1 | mmI
A 15% ke 25% 20%
B 11% 350 32% 35%
G 22% 4:1 20% 22%
D 08% 275 15% 25%
E 27% 523 28% 30%
F 05% 1:4 35% 25%
G 12% | [ 30% 24%

What 1s the total profit earned by company G for items I and II together?
(1) ¥78 Lakhs (2) ¥1.62 crores
(3) 7.8 croves (4) ¥16.2 Lakhs

T Loy aeg 1131 = ford wh @9 Feudt G = gro HHmE T/ @rs T 2 7
(1) = 78« (2) %1.62%s
3) T 187 4) ¥ 16.2%03

[Question ID = 4900][Question Description = Q02_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19063]
2. 2 [Option ID = 19064]



3. 3 [Option ID = 19065]
4. 4 [Option ID = 19066]

3)

The following table embodies the details about the production and profit of two items I and II

by seven different companies A-G. Cost of the total production of both items together by

seven companies 1s Rs. 25 crores. Bazed on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production Ttemsz I and IT Earned for
Items I Items II
A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
c 22% 4:1 20% 22%
D 08% 3:h 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% i 30% 24%
FitFa mifer 8 1 T [ 3 11 %1 519 7e0T- 3o F90a A — G 51 30075 U o 1 e 2|

AT FEAT GRT 21 ST & T =Y I S B @0 . 25 FS B | afctEl 3 20 T ATRsl &

IR 9T 09T 1 I i |

FEET 3eqE FE AT A

F1 TTATEAT (%) | F TET IEET F ST

3 Fg1 | =g Il
A 15% a8 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% i 15% 25%
E 27% 53 28% 30¢°
F 05% 1:4 35% 25%
G 12% | 30% 24%

What is the ratio of the cost of production of item I by company A to the cost of production of
item I by company D?

(1) 3:5 2 2ul
(3) 3:1 4 2:3

Frot A g7 95 1% eared i @ R FEOE D g a5 19 SeTed i AT w1 WER A 4 2

@ 2:1

(1) 3:5
3:1 (4)

(3)

[Question ID = 4901][Question Description = Q03_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19067]
2. 2 [Option ID = 19068]
3. 3 [Option ID = 19069]
4. 4 [Option ID = 19070]

4)

The following table embodies the details about the production and profit of two items I and IT

by seven different companies A-G. Cost of the total production of both items together by

seven companies is Rs. 25 crores. Bazed on the data in the table. answer the gquestion

Company — wise Production and profit details

Company | Percentage (%) of Total | Ratio of production between Percent (%) Profit
Production Ttemsa I and IT Earned for

Items I Items II

A 15% 25% 20%

S

B 11% 32% 35%

C 22% 20% 22%

2 e | DO | D
LSl e ]

™ noos 1 =0 =00




E 27%
F 05%
G 12%

28% 30%
35% 25%

30% 24%

=t | =t | TG
B | W | 20|

m{maﬂmﬁuﬂaﬂmlﬂvllﬁmm S T A — Ggquﬂmmfmr 2
AT FEA GRT 2 T TE |1 I i Fe @0E . 25 FAS B | At J 20 T oAmest o
ST T Y I A |

FEAET 3eAE FE AT H A

=1 TATEAT (%) | 7 7T SeEd T A

J I | =TI
A 15% 243 25% 20%
B 11% 852 32% 356%
C 22% 4:1 20% 22%
D 08% 3:6 15% 25%
E 27% 53 28% 30%
B 05% 1:4 35% 25%
G 12% 1:2 30% 24%

What 1s the sum total of the profit earned by company B on production of item I and the
profit earned by company A on the production of item II?

(1) ¥ 0.78 Crores (2) ¥97.8Lakhs
(3) ¥ 52.8 Lakhs 4) ¥ 30.65 Lakhs

Forl B gRT 9% 1 % 3e018d § FEI T @9 390 el A g1 9w 11 % Seared § T ST R e
R R B

(1) % 9.78 =us (2) % 97.8 =@
(3) % 52.8« W@ (4) %. 30.65 @@

[Question ID = 4902][Question Description = Q04_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19071]
2. 2 [Option ID = 19072]
3. 3 [Option ID = 19073]
4. 4 [Option ID = 19074]

%) The following table embodies the details about the production and profit of two items I and II

by seven different companies A-G. Cost of the total production of both items together by
seven companies i Rs. 25 crores. Bazed on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production Ttems I and IT Earned for
Items 1 Items II
A 15% 2:3 25% 20%
B 11% 32 32% 35%
C 22% 4:1 20% 22%
D 08% 3:5 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% I 30% 24%

AR Attt 8 71 T30 1 270 11 %1 O 370 - 310 Foara A — Ggquﬂmwfaaw*l
T AT SR SHT SR % U A1 30T P A0 5 25 S # | alfersn 8 {50 T smesl %
HTHT T Y I A |

Freft | ot Sear g lvdag I | o= =y F1 afaemaar
1 TAoadt (%) | % AT TeqEA F A

1 | w1l




A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:5 15% 26%
E 27% 5:3 28% 30%
F 05% 1:4 356% 26%
G 12% 132 30% 24%

What iz the sum total of the cost of production of item I by company A and the cost of
production of item II by company B?

(1) 2.6 Crores (2) 26 Lakhs
3 3.35 Crores (4) 33.65 Lakhs

FTT A g g 1% IeaEA A AFE @i FOEr B 3 95 11 F 3o 1 A e Fe e

(1) = 2.6 %% (2) % 26 =@ma
(3) % 3.35 703 (4) % 33.65 @@

[Question ID = 4903][Question Description = Q05_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19075]
2. 2 [Option ID = 19076]
3. 3 [Option ID = 19077]
4. 4 [Option ID = 19078]

Topic:- GP_Set6_B

1) In which level of teaching ‘Seeing of relationship’ is promoted as an objective?
(1) Memory level (2) Understanding level

(3) Reflective level (4) Autonomous development level

v = foF9 T8 T “wmegl W gfewe 1 3EvS % =9 E wed o 2t

(1) [ - =% (2)  wFEEg - T
(3) famefi - o - = (4) =T - T -

[Question ID = 4904][Question Description = Q06_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19079]
2. 2 [Option ID = 19080]
3. 3 [Option ID = 19081]
4. 4 [Option ID = 19082]

2) Identify from the following spectrum of teaching methods which are called ‘dialogic’.

(A) Team teaching and demonstration.

(B)  Tutorials and case studies

(C) Group discussions and interactive presentation
(D)  Simulation and role playing

(E) Computer Alded instruction and Practical tasks

Choose the correct answer from the options given below :
(1) (A) and (C) only (2) (B)and (D) only
(3) (B) and (C) only (4) (D) and (E) only

faw wu forem i Tt = w09z @ FATEGT [GAE e Fed &, IHF TEEE W |
(A)  TrEm-g3e v aeEE

(B) WM& vd =T A5

(C)  =HfEs == wd AAAw -

(D)  wFETa TE e FEE

-, . r
T e oy ooy o [ o FEFTRCPTRRt )




L SETERGA AR U] SAr sl SR ERRn e s

= f2u o el °§ ® wE 3 T =9 i
(1)  Faa (4) 77 (O) (2) ad (B) i (D)
(3) == (B) 3k (O) (4) Hae (D) R (E)

[Question ID = 4905][Question Description = Q07_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19083]
2. 2 [Option ID = 19084]
3. 3 [Option ID = 19085]
4. 4 [Option ID = 19086]

3)  Match List T with List IT
List I List IT
Key behaviours contributing to effective Descriptive fetures
teaching
{A) Less=on clarity (I) Frequency with +which students
understand and correctly complete
exercises
(B) Instructional Variety (I) The amount of time students devote 1n
learning in the clazsroom
(C) Engagement in learning process (III) Teacher's flexibility of the delivery
during the presentation of a leszon
(D) Student success rate (IV) Direct, audible oral delivery to all
students
Choose the correct answer from the options given below :
(1) (A)-(IV). (B)-(III). (C)-(II), (D)-(T)
(2) (A)-(I). (B)-(II). (C)-(III), (D)-(IV)
(3) (A, (B)-(I). (C)-(IV). (D)-(IID)
4) (A)-(IID). (B)-(IV). (C)-(I). (D)-(II)
TH1-1 % T F=-11 F1 f5ers Fifw
=11 T=i-11
(A) T8 - TE M 3 F ¥EEed F oo TH FF W
ST F1 TA TH = G HAT
(B) Ecw-afEea (ID) =& 9 e g Al 2 FEgEE s
(C) foream wiean ¥ aAfeAfc (II) W=-wedta =i smEta § s + aea-wehd
= T
(D) ®BE - TFeEl — &= (IV) =i faanizan = =@an, gaviE ditgs -
T

S o T faweT 9 | @F I F 9= i

(L (A)-(IV). (B)-(IID). (C)-(I). (D)-(I)

(2) (A)-(D). (B)-(IT). (C)-(III). (D)-(IV)

(3) (A)-(II). (B)-(I). (C)-(IV). (D)-(11I}

(4) (A)-(III). (B)-(IV). (C)-(I). (D)-(II)

[Question ID = 4906][Question Description = Q08_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19087]
2. 2 [Option ID = 19088]

3. 3 [Option ID = 19089]
4. 4 [Option ID = 19090]

4)

Given below are two statements :

Statement I: Promoting classroom dialogue that encourages students to examine



alternatives 1s an example of direct instruction.

Statement II : Probing refers to teacher statements that encourage students to elaborate an

answer.

In the light of the above statements. choose the correct answer from the options given below:

(1)

(2)

(3)

(4)

Both Statement I and Statement I are true

Both Statement I and Statement IT are false

Statement I 12 true but Statement II 1s false

Statement I 1s false but Statement II is true

4= & we e B

H ([):  BET I faweul =1 giiae #H % oo SetEd F g w91 A IeAy 29w U

EH L % |

F9A (ID) : IS F Aacra 15 F1, ST H o §=45 37 45 o seatag 0 95 w99 2 |

IUF FHUA AT §, A= 5 T e § 9 6E 36 %1 999 HiiAu

(1)

(2)

(3)

(4)

Foa [ o7 1291 59 & |

Fy 1 3 11241 39 & |

Fya [ O 2, o =9 [ 3mea 2 |

Fu [ 370cy 2, wied =9 [[ 8500 7 |

[Question ID = 4907][Question Description = Q09_GP_22NOV_S2_SHAAN]

A W N -

1 [Option ID = 19091]
2 [Option ID = 19092]
3 [Option ID = 19093]
4 [Option ID = 19094]

3) Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) :  Innovations in evaluation system have to amply safeguard the reliability
and validity issues of tools used.

Eeasons (R) : The very purpose of evaluation is frustrated, if the evaluation tools do not

meet the requirements of reliability and validity.

In the light of the above statements, choose the most appropriate answer from the options

given helow :

(1)
(2)
(3)

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
Both (A) and (R) are correct and (R) 1s NOT the correct explanation of (A)

(A) 12 correct but (R) 1s not correct



) (A) 15 not correct but (R) 1s correct

4= 71 w99 v U 2 ;v wfiFeE (Assertion A) ¥ =9 § fafga 2 a1 FEL 5% F0 (Reason R) %

=Y 'El' ;

st (A) : AT - AT, T ST EvaeeEar o duar gt e oo
T G AT E |

0 (R) qemEA e & S R, W e meAn favanEEar o duar # smane i

S F9E F AeE 9, {9 e fTwew 4 @ wed 39ET I H =94 Fifa

(1) (A) R (R) 3H =81 2 371 (R). (A) Fi 76 =777 7 |

(2)  (A) 3 (R) 1 @& & wifer (R). (A) =hl WE =amemn 76 # |
(3)  (A) = 2 #@FFA (R) W8 AR R

@ (A @E 2 AR R) W R

[Question ID = 4908][Question Description = Q10_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19095]
2. 2 [Option ID = 19096]
3. 3 [Option ID = 19097]
4. 4 [Option ID = 19098]

) In which of the following research methods, process of hypothesis testing optimally

safeguards the role of extraneous variables?

(1) Expost Facto method (2) Experimental method
(3) Historical method (4) Descriptive survey method

Hr= & wft ma-fafea F %= o fafy afeerr wliae uiEer spaw =9 @ g 9 6 g w5 g
il 2 ?

(1)  FEmE - o (2) AT
(3)  vfamfaw-fafa (4) TamorcHm-maEu-Tath

[Question ID = 4909][Question Description = Q11_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19099]
2. 2 [Option ID = 19100]
3. 3 [Option ID = 19101]
4. 4 [Option ID = 19102]

7) Which of the following belong to the category of true experimental design?

(A) One group pre test post test design

(B) Two groups randomized subjects post test only design
(C) Two groups static designs

(D) Randomised groups pre test post test design

(E) One group time series deslgn

Choose the correct answer from the optlons given below :

(1) (A) and (B) only (2) (B)and (C) only

(3) (B) and (D) only (4) (D) and (E) only
=1 § 9 =+ ansiEs T AT o aeeeg 2 7

7 AN =T =TT e = ST



la s Ty TERE Rt TR AR R EAREARE AR TR AR R

(B) Tmgdm a=gia famm wfamr sae afumer

(C) Temel for sifvwern

(D)  =E=SEa THE e e Afewer

(E) v W5 W99 4giEen AHer

= f2u MU fame 5/ wE 3w = i

(1) === (A) R (B) (2) &= (B) 277 (C)
(3) === (B) 3 (D) (4) F== (D) #i (E)

[Question ID = 4910][Question Description = Q12_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19103]
2. 2 [Option ID = 19104]
3. 3 [Option ID = 19105]
4. 4 [Option ID = 19106]

8)  Match List I with List IT
ListI List IT
Steps of rezearch Precautions needed
(A) Problem formulation (I) Appropriateness of techniques used
(B) Hypothesis making (I) Ensuring internal validity optimally
(C) Research desien (III) Unambiguous labelling of wvariables
being related
(D) Data analysis (IV) Focused issues in terms evidences
Choose the correct answer from the options given below :
(1) (A-AD. (B)-D). (C)-AV), (D)-IID
(2) (A)-(D). (B)-(ID). (C)-(I1I), (D)-(IV)
(3) (A)-(IV). (B)-(III). (C)-(II). (D)-(I)
(4 (A)-(IID), (B)-IV), (C)-(I), (D)-(II)
-1 % Ty gefi-11 1 faerm ifse
g Tt 11
M % = AT GrEETET
(A) mmEEr i (I)  wEnT =1 T aEA g
(B) af=wewT s (1) ==t Auar 61 3eag gEfvEaa
(C) =g AAfashea (III) FEegfaa =2 =1 AEfarg TEe=
D) =z-fagem (IV) @Eg-92] W Higd faug

4= 23 o el ® ® WA 39 A =98 i
(1) (A)-(IT). (B)-(T). (C)-(IV), (D)-(III)
@) (A)-(D), (B)-(ID). (C)-(IID), (D)-(IV)
(3)  (A)-V). (B)-(IID). (C)-(II), (D)-(D)
(4) (A)-(IID). (B)-(IV), (C)-(I), (D)-(ID)



[Question ID = 4911][Question Description = Q13_GP_22NOV_S2_SHAAN]
1 [Option ID = 19107]
2 [Option ID = 19108]
3 [Option ID = 19109]
4 [Option ID = 19110]

AN wN -

9)  (Given below are two statements :

Statement I : Use of ICT in research 1s a super imposition which should be dizcouraged.
Statement II : Research ethics and its ohservance has to be a mandatory requirement.
In the light of the above statements. choose the correct answer from the options given below:
(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement II are false
(3) Statement I 1z true but Statement II 1s falze
(4) Statement I 1= false but Statement II 1s true
e 3t o fqm e
Fo (I): v H e @127 = w= vk e & T wdieattaa e s =niee |
Fod (I1) :  TIa=R - S S0 AT U A Sy 2

I F9F F A 1, 59 5w fFwew 9 8@ wE I w == fif

(1) =R IsRIIZA a3 % |

(2) w9 IR I 2M o= & |

(3) =9 19T 2, wifehd e I 91007 2 |

(4) o I 95T B, witeq By [Laeg 2 |

[Question ID = 4912][Question Description = Q14_GP_22NOV_S2_SHAAN]
1 [Option ID = 19111]
2 [Option ID = 19112]
3 [Option ID = 19113]
4 [Option ID = 19114]

A W N -

10) Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) : Format and styles of referencing in a research thesis are formal
reguirements.

Reasons (R) : Formal requirements and their observance help promote standardization

and objectivity.

In the light of the above statements. choose the most appropriate answer from the options
given below :



(L) Dotn A) and (o) are trae and () 1s the correct eXplanation oI (o)

(2) Both (A) and (R) are true and (R) is NOT the correct explanation of (4)
(3) (A) 1s true but (R) 1z false

(4) (A) 18 falze but (R) 1s true

4= 3 FA 3 e E

AT (A) : HTEIH T-TEE H S vd Sedl 0 g S AEeEEan 3 |
FR (R) : SAGEF AETEFEATA AR % FATER H A e R EHEal 5 sade d
TemEar faedt 2 |

IORE FYA F AT E, A G T e § ° =El 39 o = Fi

(1)  (A) 3f (R) 391 @&t 2 31 (R). (A) i W& = 2 |

(2)  (A)#R (R) ZA wEr 2 A (R), (A) = Td smme 195 2 )

(3) (AT 2 wfF (R) W&t 21 2

(4) (A @ FE & @A (R) 96T 2

[Question ID = 4913][Question Description = Q15_GP_22NOV_S2_SHAAN]
1 [Option ID = 19115]

2 [Option ID = 19116]

3 [Option ID = 19117]
4 [Option ID = 19118]

A W N -

") When the attitude of the communication towards self is positive but towards others it is
negative, the communicator is said to be

(1) Self confident (2) Lacking in self confidence and
authenticity
(3 Self-concelted (4) Communicating without confidence and

without optimism

8 DA B =HdEN =9 % Uid SEReHE UE 57 % Uid FRReE® B al 35 ®ed 2

(1)  wAreotazarE (2) HATRETEE T YEITE FOAE
(3)  wtaarh (4) TavamEF vd APTEETEd Oan

[Question ID = 4914][Question Description = Q16_GP_22NOV_S2_SHAAN]

1. 1 [Option ID = 19119]
2. 2 [Option ID = 19120]
3. 3 [Option ID = 19121]
4. 4 [Option ID = 19122]
12)  If the action desived in the message 1z satisfactorily performed or the information is
faithfully received. it 1= said that,
(1) Communication loop has been closed (2) Communication has just begun
(3) Communication 1s successful (4) Communication process 1s smooth
ST HSIIHAR U Ty &7 ¥ i F ACAEA 541 2 991 A gEA eargeas i 5 96 w7
34 FEd 2
(1) @A - wiwy &= A g 2 (2) Haw I 9% g 2
{3} m & % {4) H-r] a.—ﬂr*ﬁfa’il r:l‘EI(IE{ _r:L |

[Question ID = 4915][Question Description = Q17_GP_22NOV_S2_SHAAN]
1 [Option ID = 19123]
2 [Option ID = 19124]
3 [Option ID = 19125]
4 [Option ID = 19126]

A WN -

13 :
) Given below are two statements :

Statement I: Soclety plays a key part in the shaping of communication process.



otatement 11 : Communication 15 concerned with the production, distribution and formation
of public knowledge in soclety.

In the light of the above statements. choose the most appropriate answer from the options
given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3 Statement I is correct but Statement IT 1s incorrect
(4) Statement I is incorrect but Statement II is correct

= = wem faw o E

FYF ([): TS, TATE THRAT AT i B gEA Y w1 e e

Fo (II) : @2 JEE § AFEF - - % 30res vd faa & i gt 2
IHIFT FYA F AT |, = B e et § 8 wed 3uged I 1 99 i
(1) == I I3 =& 2 |

(2 FYF IR I3 Toa 7 |

(3) == 198 2, Wik e 107 2 |

(4)  F I 7=a 2, @ 99 A8 2 |

[Question ID = 4916][Question Description = Q18_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19127]
2. 2 [Option ID = 19128]
3. 3 [Option ID = 19129]
4. 4 [Option ID = 19130]

14) ‘Many Voices. one world : Communication and Society :

Today and Tomorrow (UNESCO), known as the MacBride commission, is about:
(A) The needs of developing countries

(B) Industrial growth

(C) Dizsarmament and world peace

(D)  Balance information flow

(E) International understanding

Choose the correct answer from the options given below :

8 (A). (D). (E) only (2)  (A), (B), and (C) only

(3 (A). (C). and (D) only (4)  (A), (B). and (D) only

sfiafFaat o7 favg o 59 v oue o SR Fe (g5, g e FeEE, e e d 27
(A T 2o fit s

® et

(O TarTF e vt

(D)  FEEd g9 TAE



(L) Hedl S HAs Y

F= feu T =l 9§ w9 3 1 =99 i
(1) == (A). (D) #AF (E) (2)  =wE= (A), (B) #7 (C)
(3)  =HEd (A). (C) 371 (D) (4) e (A). (B) 31 (D)

[Question ID = 4917][Question Description = Q19_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19131]
2. 2 [Option ID = 19132]
3. 3 [Option ID = 19133]
4. 4 [Option ID = 19134]

15) Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :
Assertion (A) : Those who receive the message and get themselves influenced by them in
the process, are designated as audience.
Reasons (R) : An individual or many. who listen. watch or read the meszages are called

audience.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct and (R) iz NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

F= 71 o f3u o 3 v afiFes (Assertion A) F FW # fAfEm 2 71 35 35F FRW (Reason R) %

=0 q

AR (A) : S TR wHET F B i ow ufEe § w3g uaiad w9 B, 9 i e
Bl

F (R) : U Sl A1 A I ST A HS9 g, 39 A1 aed 3, Fia1 Feend # |

SWI FUE T AT 8, A9 # T FEe ¥ ° g9 39 I H =99 i

(1) (A) = (R) 21 @& 2 3fit (R). (A) 1 @8l === 3 |

2 (A R (R) 34 =8 E S (R). (A) F T s 18 2
(3) (AT 2w (R) = TH 2

@ (A @E T A R EE 2

[Question ID = 4918][Question Description = Q20_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19135]
2. 2 [Option ID = 19136]
3. 3 [Option ID = 19137]
4. 4 [Option ID = 19138]

16) A =zum of money at compound Interest doubles itself in 15 years, It will become eight times

of itzelf in :



(n 45 vears (2) 48 years

(3) o4 years (4) 60 years

s fifraa g $t 7fs 15 a9f % awafg == d g & ot 21| 78 319 9 ¥ WS T e 99t 1w
T ?

(1) 45=mid (2) 48=9 H
(3) S4=wid (4) 60a9 H

[Question ID = 4919][Question Description = Q21_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19139]
2. 2 [Option ID = 19140]
3. 3 [Option ID = 19141]
4. 4 [Option ID = 19142]

17) The average age of three boys 12 25 years and thelr ages are in the proportion 3 : 5 : 7, the

age of the youngest boy is :
(1) 9 vears {(2) 15 years
(3) 18 vears (4) 21 years

1 w75l Fi 2itEa WY 25 Wiel & I IR ST GHETE 305 7 F G g9y I 5 A7 7

(1) 9@ (2) 1549
(3) 18T 4 21T

[Question ID = 4920][Question Description = Q22_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19143]
2. 2 [Option ID = 19144]
3. 3 [Option ID = 19145]
4. 4 [Option ID = 19146]

18) With an average speed of 50 km/hr, a train reaches its destination in time. If it goes with an

average speed of 40 km/hr, it 1s late by 24 minutes. The total distance travelled 1s :
(1) 30 km (Z) 40km
(3) 60 km (4) 80 km
o TS 50 TR Ee i sitEs 1fa @ AT |eE T W AR 9T ° TEedl 7 | 9 77 40 FRA g
=1 wfs @ I=dt 2 91 78 24 T o2 B T2 | oSl T e Reirdie e e 2
(1) 30 fw.H. (2) 40 ..
(3) 60 f=.1. (4) 80 f=.H.

[Question ID = 4921][Question Description = Q23_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19147]
2. 2 [Option ID = 19148]
3. 3 [Option ID = 19149]
4. 4 [Option ID = 19150]

19) " 1f the word EARTH be witten as QPMZS 1in coded form. how can HEART be written following

the same coding.
(1) SQPZM (2) SQMPZ
(3) SPQZIM 4) SQPMZ
w7 EARTH w5 =l Fz-9m1 § QPMZS formn o 71 @1 36t 29 § HEART =i d fogn ?

i1 SOP7MNT < QOnNTPF



b Do 8 iany  wpathoromon b b e 5 oy o e e

(3) SPQZM (4) SQPMZ

[Question ID = 4922][Question Description = Q24_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19151]
2. 2 [Option ID = 19152]
3. 3 [Option ID = 19153]
4. 4 [Option ID = 19154]

20) Complete the number series :

0, 6, 24, 60, 120, ......
(1) 180 (2) 300
(3) 210 (4) 240

TEAT-F P

0. 6. 24, 60, 120, ......
(1) 180 @) 300
(3 210 4) 240

[Question ID = 4923][Question Description = Q25_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19155]
2. 2 [Option ID = 19156]
3. 3 [Option ID = 19157]
4. 4 [Option ID = 19158]

21) Sagarika 1s never seen reading any Mathematics book during the day time. Yet she scored

08% marks in Mathematics. Therefore she must be studyving during the night. “Which of
following means of knowledge 1s used in this argument?
(1) Upamana (analogy) (2) Pratyvaksa (Perception)

(3) Anumana (inference) (4) Arthapatti (Implication)

“fo % w9g 9w e F T ued 5 e ot T8 2@ v, aunf 59 98% W W FU| o
=% T4 | o gl =it | 3@ gfFd # F4 a1 sgae e 27

(1) =9EE (2) TIE

(3) I (4) =3gmfE

[Question ID = 4924][Question Description = Q26_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19159]
2. 2 [Option ID = 19160]
3. 3 [Option ID = 19161]
4. 4 [Option ID = 19162]

22) Which of the following Indian thought systems holds that universal relation in case of
inference (anumana) cannot be determined because there iz always room for doubt about the
unohserved cases?

(1) Buddhists (2) Naiyayikas

(3) Mimamsa (4) Lokavala
frefafas 2 @ w9 o 9wdm 29im ugfa 78 wedt @ T oaaEe @ wefaa aEdm gy it T e
S TR FANF AN FG GHA] § Bi2raa 1 TASE FHI a4 w5l B 7
(1 g (2) et

E

(3)  wHEE (4) ==

[Question ID = 4925][Question Description = Q27_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19163]
2. 2 [Option ID = 19164]



3. 3 [Option ID = 19165]
4. 4 [Option ID = 19166]

23) The statement ‘a sense organ that percelves a property also perceives the “propertvness” as
well as the absence of that property’ can be attributed to which of the following schools of
classical Indian Philosophy?

(1) Lokayala / Carvaka (2) Nyaya
(3) Buddhizam (4) Uttara mimamsa

=+ — F1 sfEm e w5 gene e @ FE sy Seeh otatder aur g AuE = of uene w2 )
H W HRAE 294 % hE TrEE § ST 51 o 2

(1)  =rmEa/=EE (2) ==
(3) dig (4) =

[Question ID = 4926][Question Description = Q28_GP_22NOV_S2_SHAAN]
1 [Option ID = 19167]
2 [Option ID = 19168]
3 [Option ID = 19169]
. 4 [Option ID = 19170]

A w N =

24) Which fallacy 1s committed in the following statement?

“Nohody has even proved that immoral behaviour by elected officials erodes public morality.
Therefore we must conclude that such behavior does not erode public morality”™.
(1) Appeal to Force (2) Appeal to Pity
(3) Appeal to Ignorance (4)  Appeal to the People
SuTfeiad Fem ® B W Ecaram @r w27 TR 3 v w76 e & =9 ge wertasmte
HAaF =R FA-FlGwal 1 A Al E FesasT 59 36 AeRY W UEEd § 59 W F =Een 99—

(1) === % =er (2) =41 9E = Jed
(3)  HAFW F =erd (4) HEd F T

[Question ID = 4927][Question Description = Q29_GP_22NOV_S2_SHAAN]
1 [Option ID = 19171]
2 [Option ID = 19172]
3 [Option ID = 19173]
4 [Option ID = 19174]

A W N -

25) Given below are two statements

Statement A: “All physicians whose licenses have been revoked are physicians ineligible to
practise”.

Statement B : “All physicans eligible to practise are physicians whose licenses are intail”.

Which of the following is true with regard to above two statements?

(1) Statement B is contrapositive of the statement A and these statements are not
logically equivalent.

(2) Statement B 1s contrapositive of the statement A and these two statements are
logically equivalent.

(3) Statement B 1s converse of the statement A and these two statements are not
logically equivalent.

(4) Statement B is obverse of the statement A and these two statements are not logically
equivalent.

FoF W A wet FatheEen TRt smitaAt e v T 2 = e e Bg sETE B 7

w " A uefi Fafwen w1 fafwem =@ = foo g 2 s agwfaat san )

59 2F1 FUA % Ty | Aited § F8 W R T B

(1Y Y9 5. 99 37 =7 gfauiaieg =9 2 990 291 =99 915 =0 O oaogsg 751 2 |



at

(2) WU W, I A N AAURAGT T 2 Y1 I FGF qNEF 2 W TG §
(8) YA 9, FYF 3 1 UGAH! T & TUT AT FHYF AEF 32 H qEGeT TE E |
(4)  FH W, I A F AAUEEET T 2 T I FYF A 38 H FAGed T4 8 |

[Question ID = 4928][Question Description = Q30_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19175]
2. 2 [Option ID = 19176]
3. 3 [Option ID = 19177]
4. 4 [Option ID = 19178]

26) With respect to Computer Virus, which one of the following statements is True?

(1)
(2)
(3)

(4)

It 15 a kind of physical impurity which when present in the CPU causes it to
malfunction.

It i a computer program that infects a computer and thereby sends unsolicited bulk
email.

It is a computer program which copies itzelf to infect a computer without the
permission / knowledge of the user.

It 1s an accumulation of dust on the hard disk causing it to malfunction.

FEE ATSH F T e B H i 6 e el 27

(1) =% v% UFF F Hifas AAG 2 M 59 qA.F, 7 = 7 a TeEE! 95 w7 |
(2) IR UF HEE UM A G Hl TN HAl AL 59 TR ATEIAEIS goh SHe Ul 7 |

(3) ¥F TR FOAE MWW 2O ATH UOET S 2 EE T8 WO O IEE TR FA A
BRI % 51 38 T9TEd e 7 |
(4) 7= Faa g9 F THEE 2 AT W R 6 # e Feege Fm o as oA A |

[Question ID = 4929][Question Description = Q31_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19179]
2. 2 [Option ID = 19180]
3. 3 [Option ID = 19181]
4. 4 [Option ID = 19182]

27) Identify the correct order in which the following computer memories are ranked from largest

to smallest in terms of storage capacity

(A)

(B)

(©)

n)

Cache

RAM

Hard Disk

Register

Choose the correct answer from the options given below :

(1)

(3)

(C). (B). (D). (A) 2y (D). (A). (B). (C)

(B). (D). (C). (&) 4y (C). (B)., (A). (D)

Tfq-wwswn i @A $i 572 ° Tew 93 I T9 912 Fge TARl & TEl i TEaE w |

A)  Fm

(B)

(C)y @S o=



I

(D) PAR [

H19 f7u o faweai § | oE 39 w9 i

(1) (C). (B). (D). (&) 2y (D). (A). (B). (C)

(3) (B). (D). (C). (A) (4) (C). (B). (A). (D)

[Question ID = 4930][Question Description = Q32_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19183]
2. 2 [Option ID = 19184]
3. 3 [Option ID = 19185]
4. 4 [Option ID = 19186]

28) Given below are two statements :

Statement I: The largest decimal number that can be represented using a 7-bit binary

number 1s 128.

Statement IT: Minimum number of bits required to store largest 2-digit decimal number

1= 7.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement IT are false
(3 Statement I 1= true but Statement IT 1= falze
(4) Statement I 12 false but Statement I iz true

= 3t Fem fqm e E

FoA (I):  7-fae =1 uam a5 wew wdi 2nes e 128 2|
Fo (1) : T w21 2112 emefas 5 & 50 F6 & 60 =Fan 7 6z 1 e 2|
IR A ATAE 4, = B e e A g wet aw o = il
(1) =99 IR I[24 uca 7 |
(2)  wvE IR ILEM 59T & |
(8) ¥ 14w 2, et =y 11 w18 7 |
(4) %o I A5 7, wfeT wa [1a0 2 |
[Question ID = 4931][Question Description = Q33_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19187]
2. 2 [Option ID = 19188]

3. 3 [Option ID = 19189]
4. 4 [Option ID = 19190]



29) Which of the following group of statements with respect to World Wide Web (WWW) is
correct?
(A) A web zerver 1s a software used to access and view content on the WWW.
(B) A web browser 1s a computer system that makes files available on the WWW,
() Tim Berners — Lee created the WWW.

(D) Moszailc was the first widely used web browser.

Choose the correct statements from above :
(1) (A) and (B) only {(2) (C)and (D) only
(3) (B) and (C) only {(4) (A) and (D) only

WWW (ge% a15s 99) * Heswg § SH-i4 8 % Gal & 7

(&) 9 TR UF AR 2 A WWW W uFEE S A 3 F e wEE w2

(B) = WIew UF Hrg Ieen 2 51 WWW T 294 et 51 & |

(C) Tom sE-<fi F WWW =71 |

(D) WIS IEeA HEH S WEH AT S A ae wEet o |

= fau T g 5 | 5E 3 # =E e

(1) = (A) #R (B) (2) =aa (C) = (D)
(8)  #ad (B) 317 (0) (4)  =ad (A) 31 (D)

[Question ID = 4932][Question Description = Q34_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19191]
2. 2 [Option ID = 19192]
3. 3 [Option ID = 19193]
4. 4 [Option ID = 19194]

30) Match List I with List IT

ListI List IT
(Digital Initiatives in Higher Education) (Purpose)
(A) NAD (I! Reduce dependency on proprietary
software in educational institutions.
(B) NDL (I) Learn various free and open source
software all by oneself.
(C) Spoken Tutorial (ITIT) Issuance, storage, access and

verification of Academic Awards
namely degrees. mark-sheets ete.

Iy FOSSEE (IV) Frame work of virtual repository of
learning resources with a single —
window search facility.

Choose the correct answer from the options given below :



(1) (A)-I). B)-IV), (C)-dD), (D)-@)
@ (A)-AV). (B)-IID). (C)-@). (D))
(3)  (A)-IV). (B)-(IID), (C)-ID), (D)-D)
@) (A)-AD. (B)-(D). (C)-(IID), (D)-(IV)

T=-1 % = geit-11 =1 fee it
-1 11
T=gET | T2iaed uEe e

(A) TAEEL I Faeo-oeaeE 8§ damel Aieas WA
FH FATE |

® wIeE A v A e s sie o
TFzEE HiEd E |

(C) A Zggifas (ITT) Tfa =, a1 F, 95= 31 dtes e
Ju-Terft, A -vie senfs i ==

(D) TEFATATHLE (IV) fimrer farst &=t =i g = @« fais
A WaiAel T S

Fi= fzu v famet 0 @ @A S5 w0 9 Hifa
(1) (A)-(IID. (B)-(IV), (C)-(ID). (D)-(D)
(2) (A)-(IV), (B)-(I1I), (C)-(I), (D)-(IL)
(3)  (A)-AV). (B)-(I1D), (C)-(ID), (D)-(D)
(4) (A)-(II), (B)-(I). (C)-(III). (D)-(IV)

[Question ID = 4933][Question Description = Q35_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19195]
2. 2 [Option ID = 19196]
3. 3 [Option ID = 19197]
4. 4 [Option ID = 19198]

31)  Ozone layer to become ozone hole, the concentration of ozone should be
(L < 220 Dobszon Unit (2) = 300 Dobson Unit
(3) < 320 Dobson Unit (4) <400 Dobson Unit

™

ST T STTAA (95 T GHdidd 214 @ o0 S F1 e 2= 9e |

(1) < 220 TR THTE (2) =300 T =
(3) =320 s/ w9 (4) < 400 ST TFTE

[Question ID = 4934][Question Description = Q36_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19199]
2. 2 [Option ID = 19200]
3. 3 [Option ID = 19201]
4. 4 [Option ID = 19202]

32) The Virus responsible for disease COVID-19 is
(1) SARS — Cov-2 (2y TB- Cov-2
(3) SARS — Cov-1 (4) HsN-

Fifas-19 =+ fou Tt g 2 -

(1) =m-=4. -2 2y Fd-=E. -2
(3)  wE-FE. -1 (4) THIT

[Question ID = 4935][Question Description = Q37_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19203]
2. 2 [Option ID = 19204]
3. 3 [Option ID = 19205]
4. 4 [Option ID = 19206]

33) Match List I with List IT

List I List II
Alr Quality Index Colour Code
fAY N —a&an iTy R =01 v



(B) 101-200 (II) Red
(Cy 201-300 (III) Green
(D) 301-400 (IV) Orange

Choose the correct answer from the options given below :
(1) (A)-(IID). (B)-(D). (C)-(IL). (D)-(IV)
(2) (A)-(IID). (B)-(D). (C)-(IV), (D)-(II)
(3) (A)-(ID). (B)-(I). (O)-(IIT). (D)-(IV)
{4) (A)-(II). (B)-(I), (C)-(IV). (D)-(III)

F-1 % T gEi-11 =1 e i -

-1 =11
(a) 0-50 O dien
(B) 101-200 (II) =11
(Cy 201-300 (III) =0
(D) 301 — 400 aTvy =

= 22 o fomel § W wE 39 R =9a i

(1) (A)-(IIT). (B)-(T). (C)-(ID). (D)-(IV)

(2) (A)-(III). (B)-(T). (C)-(IV), (D)-(IT)

(3) (A)-(II). (B)-(I). (C)-(II). (D)-(IV)

(4) (A)-(I1). (B)-(I), (C)-(IV), (D)-(I1D)
[Question ID = 4936][Question Description = Q38_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19207]
2. 2 [Option ID = 19208]

3. 3 [Option ID = 19209]
4. 4 [Option ID = 19210]

34)  The saltiness of the ocean water can be attributed to the minerals and salts deposited by the
various rivers that flow into it. However, rivers are not saline because :
(L Salts get precipitated at the bottom
(2) Salts are absorbed by the plants into 1t
(3 River water in replenished by the rain

(4) Muds of the river neutralizes the salt

AUS Wl % W F o0 sHH A e Al fatae JfgE gan efea afe o s w0 e e
A HHAT & | TN, A F FeA @RI AR 2ET =i

(1)  =&Ew 9952 8§ A=&0d 5 94 7 (2) TG SE H AT FE A B
(8) ¥4I w1 99 | #ghE B S 8 (4) T8 T MG FA F HOHE o2 2

[Question ID = 4937][Question Description = Q39_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19211]
2. 2 [Option ID = 19212]
3. 3 [Option ID = 19213]
4. 4 [Option ID = 19214]

35 =i 5
) India’s maximum energy comes from :

(1) Hydroelectric Power Plant (2) Nuclear Power Plant

(3 Thermal Power Plant (4)  Solar Power Plant
A § A S EE

(1) o=t 993 (2) T faga w999
(3)  mfagd HA () TR e T



[Question ID = 4938][Question Description = Q40_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19215]
2. 2 [Option ID = 19216]
3. 3 [Option ID = 19217]
4. 4 [Option ID = 19218]

36) Under the rubric oriental learning programmes in India. The role of learner was considered
to be relatively more :

(1) Active (2) Passive
(3) Neutral 4y Silent

A H, WA 39 AT wEmE e s S g anias =9 9 Al

(1) =i | et o (2) T Tt st 6
(3) T2y O Awr o (4) === O S ot

[Question ID = 4939][Question Description = Q41_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19219]
2. 2 [Option ID = 19220]
3. 3 [Option ID = 19221]
4. 4 [Option ID = 19222]

37) Which of the following features are indicative of the negative social rather than physical
aspects of environment?
(A) Habitats in slums
(B) Conflict and clashes in groups
(C) Frustration and anxiety manifest in groups

(D)  Aggression and threats manifest in collective behaviour

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2)  (B). and (C) only
(3) (B) and (D) only (4)  (C) and (D) only
it 9 | FH-H1 e y=Sta % Gifew 9e 9 Aiaw % FHAeEE g 9E § ghad 7 7

(A) HAiEd "aE % aE-TE
(B) YA * gEd R wE

(C)  TgEl ° F31 371 =40a1 Th2 =l 2

(D)  THE =HEEE H ATHREHAT A E@E T 7l 8

fr= feu o famwegl 1§ O o 3 @ 5 il
(1) === (A) #1 (B) (2)  Fad (B) #R (C)
(3) %= (B) w1 (D) (4) =ae (C) 31 (D)

[Question ID = 4940][Question Description = Q42_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19223]
2. 2 [Option ID = 19224]
3. 3 [Option ID = 19225]
4. 4 [Option ID = 19226]

38) For continous professional development and self improvement every teacher is supposed to
atleast devote how many hours every vear?

(1) 20 hrs (Z) 30 hrs
(3) 40 hrs (4) 50 hrs



e yee fawm ot Ao = fom aes fogs = ufs ad = e 92 = we =it

(1

(3)

20 =2

40 9

(2) 3092

(4) 50=2

[Question ID = 4941][Question Description = Q43_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19227]
2. 2 [Option ID = 19228]
3. 3 [Option ID = 19229]
4. 4 [Option ID = 19230]

39) The central motivational goal as evident in personal succesz through demonstrating
competence according to social standards takes the form of a basic value called.

(1) Self — direction value
(3) Achievement value

(2y  Hedoniztic vlaue
(4) Power value

AT AEESl % IFEY 2HA1 F UEEA w AAGaE SRl H W HEE SORE o W ged god

(1)  =TeRrEE goa
(3)  3u=ifed ged

(2) TEEwE 5
(4) wf¥d =

[Question ID = 4942][Question Description = Q44_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19231]
2. 2 [Option ID = 19232]
3. 3 [Option ID = 19233]
4. 4 [Option ID = 19234]

40) Match List I with List II
List I List II
Stages of value development Descriptive features
(A) Stage I — Value collection (I) Provides predictability of human
behaviour
(B) Stage Il — Value assessment (I)  When there are gaps between
practised and preached values
(C) Stage III — Value clarification (III) Helps the individual learn to choosze
and imbibe the values one cherishes
(D) Stage IV — Value consolidation (IV) These are acquired from the members
of the community
Choose the correct answer from the options given below :
(1) (A)-(IV). (B)-(I1I), (C)-(II), (D)-(I)
2) (A)-(I). (B)-(II), (C)-(III), (D)-(IV)
(3) (A)-(IT), (B)-(T). (C)-(IV). (D)-(IIT)
(4) (A)-(I1I). (B)-(IV), (C)-(I), (D)-(II)
T=1-1 % Ty g=H-11 =71 foefm Hifse
HH-1 FH1-11
(A) = - 1 - 57 EuEm () ©FE =IEn =1 SEEE I9esd HE 2 |
(B) =1 - II - §&3 AATohe (IT) = =asd 71 U geai |§ 70 = |
(C) =m - III - §== #ofram (IIT) =afFd 1 TH@1 Fedi F 999 30 IwEm
fira™ 4 =EEar = E |
(D) =1 - IV - ged @HFA (IV) 3= ©H=@ = "l | o foan = 2 |
= fau o fomeat | @ @d I W 9 i
(1) (A)-(IV), (B)-(III), (C)-(II)., (D)-(I)
(2) (A)-(I). (B)-(II). (C)-(IIT). (D)-(IV)
(3) (A)-(II). (B)-(I). (C)-(IV). (D)-(11I)
(4) (A)-(III). (B)-(IV). (C)-(I). (D)-(II)

[Question ID = 4943][Question Description = Q45_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19235]



2. 2 [Option ID = 19236]
3. 3 [Option ID = 19237]
4. 4 [Option ID = 19238]

Topi

1)

c:- GP_Set6_C

Read the following passage carefully and answer the gquestions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftamanship to the vounger generation of the tolling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalizations of social practice as gems of knowledege to the yvounger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftaman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the excluszion of the toilets from the
domain of knowledge by denying education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inegualisation in history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
gqualitative transformation of technologyv, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became posszible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.

wforerm i foren @ 92 L FE G0 T F 9UEE H SHAER-FY o3 T | GEadl F1 S0 Y9 i
o foemFrt % e i A f g fE Foasawid w0 W aiF 9 90 49 F goadE S| o |
FA] 1 AE WIS TG F T JEE # A6 @ Fi g difedl 5% mae 9 i v e
T UHNGHR F AEAN T % OE (A1 N T 30 GHad & 49 ° gl st w1 EHEsE e o o |
I B G F 1w w6 TGHie w7 T | g el S 3EE S gea aeiadl o
fsreper Tom <t T @em <1 U H © G e o |1 39 @Rl 3RO | T B [ o A A w9
H guE WO A TH-EF H U % stes SR w2 Tk faw o e g atea e
T AR AR % T A R 9% W 3= @ | afea w0 sew s st |, e o A
HAAHEF i FENGF TS FE0 JE A OGEA1 7 | Tvem % e 2w 8 sttt wia 8 9w T

HIOrF &9 | B i T2 | GreiiT=hl = [UETE S & HE FE (oaat =t wterser i e |
T T TS SR I 5 T e § WEeAl A HE AR T | A # A 5 S a6

1 TEEA WO d SIS AEITE 7 | WA S e & S sE 7% @9 oEn ® aisa ARG
1 T | SEAEE R F 27 § TE I9d B T EiE 98 Ted ¥ UHl T 9 B % wnw =Han 3n
STARTEHN, TaR S Sifastaael, g5 31 g vk #5990 0 91 d A9 5 96 gan G99 |

Inequalisation due to education could be addressed by :

(A)

(B)

(C)

(D)

Promoting the distinction between theory and practise
Challenging the watertight distinction between training and education
Qualitative transformation of technology

Ushering in an age of zpecialization based on dichotomy between training and

education



Choose the correct answer from the options given below :

(1) (A) and (B) only (2)  (A), and (D) only

(3 (B) and (C) only (4y  (C) and (D) only

forem & s #=1 wgE 2

(Ay  Togra iR ==aEe % faug =i gemE 2

(B) iz 3R e = &g % aiege (99 0 S 2

(C)  TfrifTRl =1 e S

(D) wfsreqor siiT forer = fGurse % snar o fEesar i o1 segE w= |

+r= fou o famreul 5 ® HE 3R W == i

(1) = (A) 3 (B) (2) I (A) R (D)

(3) === (B) #R (C) (4)  =a= (C) 37T (D)

[Question ID = 4944][Question Description = Q46_GP_22NOV_S2_SHAAN]

A W N -

2)

1 [Option ID = 19239]
2 [Option ID = 19240]
3 [Option ID = 19241]
4 [Option ID = 19242]

Read the following passage carefully and answer the gquestions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the zkills of labour and the secrets of
craftemanship to the younger generation of the toiling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftaman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denying education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus, education may be considered to be the most potent
instrument of inequalisation In history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
qualitative transformation of technology, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.

TEIE F A F 9AF T FE K TH F IAEE F FAEE-FT T T [ F SR S
o1 foemrt % e =t G f1 g fE F aEia = W AiF 3 a0 49 F geEaE S A |
FRE! 1 AT AEIAF T F JAHEA WA OSHR 2 A = dies 5F a9 s v {e
SRS PPt o S Fo e ST, (GRS IS S SECSJO P S, dep Tl ST ivts . <, R Sy U SENMRPE: T - RO ) i TR TG IR T




FIAI | AT J1 H1 A GAE A (G e 2T | e e wi ses s g wiad |
fespet Tu= oft foe @em < v F00 ® 9% FH o | 32 Al 320 | FE F [ F SR FE w9
H 9UF B WO A TH-EF H U % stesa SR w2 e o e e | atea e
T SR SAfiER F S 9 R a9 9 SE O 8 atad W | 3EE S stae °, f@en A
AT F FANGF T FEO T S Gl 7 | UeEm F Ewea g 6 ST Fi ¥ A G
AAifeF =9 8 F F 7F | TR F OETEE weia F FE F9 wieadt & o siwee i dim o
T T AT Wi Tt BT T 3eA § e 1 5eE A TE T | 9EE H OiETE o S 96
T WEA TR | AT TEeEF 7 T | e 6 e F e om aF =@ AR @ argn ated
71 T | SEEie® UK F 23§ AE WAE w® T FE 9E Tad ¥ UHl WR 7 EH F R 9Han iR

Given bhelow are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) : Education may be considered to be an instrument of inequalisation.

Reaszons (R) : The separation of work from knowledge was operationalized by separation

of training from education.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1)
(2)
(3)
4

Both (A) and (R) are correct and (R) is the correct explanation of (4)
Both (A) and (R) are correct and (R) is NOT the correct explanation of (A)
(4A) 1= correct but (R) 1s not correct

(A) 1s not correct but (R) is correct

4= =1 A fau o 2 v AfiRET (Assertion A) F ®0 H fAfima 2 F1 990 36F FAU (Reason R)

A
ATHFGT (A) : forer =F1 STOWHEER 1 TS = S T 2 |
FR (R) : forear = wfomeaw =t 99 F FE H TH H 99F FHE7 =

IHIT FYH F Al |, Fr= de o faweni # @ wed 3uged 9 A 99 i

(1) (A) ¥R (R) 3 TE E 3R (R). (A) F = e 2
@ @ s @) I A R®). Q) e 2
(3 (AT 2 AP R) W T R

@ (A TF TE E S ®) T8 R

[Question ID = 4945][Question Description = Q47_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19243]
2. 2 [Option ID = 19244]
3. 3 [Option ID = 19245]
4. 4 [Option ID = 19246]

3)

Read the following passage carefully and answer the gquestions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of

ol g RNl R e S e SN S e R b L s L TR o e L T e e e e g e e e T e e Lt b g i et RS
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value from the sweat of their labour. The latter was intended to pass on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftaman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denying education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus, education may be considered to be the most potent
instrument of inequalisation In history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
qualitative transformation of technology, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.

TrE F e | 9uF FOFE AR TH F U F TR - G | EEd w5 AR oW wee
AR TreTEd F e ® AU f g G w1 wEia F 9 AN 9 9 49 F geaaH 9 O |
FTRE F AT WEAF G F JUHA WA F SAHR @ A Ja difea aF e o aies v e
T THNGFHR F AEAN W I OO (A1 N O A GEad & 49 ° giea st = A o
FIATL § A1 A0 H1 i @ 6 s e 2 o) gen e s m s g waE |
farepet Tom off Tl @erm =0 U 1001 & @ 0 o0 A 3T WAl SE | Hr 7 ° S HE B 91
T S WO A TE-G9 H U % stee AR 2 ek e 32 e g afem e
T SN AR F T A0 GRS W I o9 ® ated @ | 56E e she 1, T A
SEHHIFA 1 AT T B0 G S Gl 7 | U9Es % ARt oo § s wig 5 =98 faEia
AT ® A I F1 7 | TR OEETEE SR A0 F9 TeTeaat = o uiee =i Hiem o
T e S 3R e BT TS SeeA H SRS A 59E TE T2 | SEE R g | S S6E
=1 THEA TR @ SIS HAEEE B T | T S men % s wm 7 wE GEe R aisa A eaE
=T | FIANSH UN F SI0 W F% AU = A FEIF g8 TRl @ UHI WU A 2H 6 hE9 wHan R

Given below are two statements :

Statement I: Training i1s intended to transfer the skills of labour and szecrets of crafts

manship to people who lack it.

Statement II : Education is intended to pass on the abstracted generalizations of social

In

practise to those who lack it.

the light of the above statements, choose the most appropriate answer from the options

given below:

(1)
(2)
(3)

4

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 1s incorrect

Statement I is incorrect but Statement IT 1s correct
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1 [Option ID = 19247]
2 [Option ID = 19248]
3 [Option ID = 19249]
4 [Option ID = 19250]

Read the following passage carefully and answer the guestions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftamanship to the younger generation of the tolling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftaman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denying education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus, education may be considered to be the most potent
instrument of Inequalisation In history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
gualitative transformation of technology, it was no longer possible for the skilled craftaman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurey and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.
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The author of the passage argues for :

(A)
(B)
(©)
(D)

Classless zoclety
Technocratic society
Interrelation between theory and practice

Presentation of traditional crafts

Choose the correct answer from the options given below :

(1)
(3)

(A) and (D) only (2) (A} and (C) only
(B) and (D) only (4) (C)and (D) only

TR F SEE T FRYA A B 7
(A)  =EEE T

(B)  dATRI-aEHT TETH

(C) Toga =R =R & ueg wiqdey
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1 [Option ID = 19251]
2 [Option ID = 19252]
3 [Option ID = 19253]
4 [Option ID = 19254]

Read the following passage carefully and answer the gquestions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftemanship to the younger generation of the toiling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalizations of social practice as gems of knowledgze to the vounger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftsman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the excluszion of the toilets from the
domain of knowledge by denving education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inegualisation in history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
qualitative transformation of technology, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the sclence of metallurgy and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became posszible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.
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Asslgn a suitable title to the paragraph

(1) Theory without practice infertile. practical benefit of theory 1s in vain
(2) Theory and practical. complement each others

(3) Dichotomy of theory and practice

(4) Theory lends support to practice
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